
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

INDEFINITE INTEGRATION

SOLVED EXAMPLES

1. ∫
(sinx + cosx)2

1 + sin2x dx =

A. x + c

B. sinx + cosx + c

C. sinx - cosx + c

D. cosx - sinx + c

Answer: A

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NQZvvfEZqhQD


Watch Video Solution

2. ∫
sin3x

sin2xcos2x
dx =

A. 2secx + c

B. secx + c

C. cosecx + c

D. 2cosecx + c

Answer: B

Watch Video Solution

3. ∫
sin2x

1 + cos4x
dx =

A. tan - 1 sin2x + c

B. - tan - 1 cos2x + c

( )
( )

https://dl.doubtnut.com/l/_NQZvvfEZqhQD
https://dl.doubtnut.com/l/_D2MeYlwc0vpE
https://dl.doubtnut.com/l/_YzHF56ocrFWy


C. tan - 1 cos2x + c

D. - tan - 1 sin - 1x + c

Answer: B

Watch Video Solution

( )
( )

4. ∫
x + 3

√x2 - 2x + 3
dx =

A. √x2 - 2x + 3 + 4sinh - 1 x - 1

√2
+ c

B. √x2 - 2x + 3 + 4sinh - 1 x + 1

√2
+ c

C. √x2 - 2x - 3 + 4sinh - 1 x - 1

√2
+ c

D. √x2 - 2x + 3 + 4sinh - 1 x - 1

√2
+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_YzHF56ocrFWy
https://dl.doubtnut.com/l/_EVSeSmfFTQc1


Watch Video Solution

5. ∫
x + 1

√2x + 1
dx =

A. 
1
3

(x + 2)√2x + 1 + c

B. 
1
3

(x - 2)√2x - 1 + c

C. (x + 2)√2x + 1 + c

D. 
1
2

(x + 2)√2x + 1 - c

Answer: A

Watch Video Solution

6. Evaluate the integerals. 

∫
x2 + 1

x4 + 1
 dx on R.`

A. 
1

√2
tan - 1x

2 - 1
2x

+ c

https://dl.doubtnut.com/l/_EVSeSmfFTQc1
https://dl.doubtnut.com/l/_618vHx1ukOEF
https://dl.doubtnut.com/l/_jaIxFnYOiPQD


B. 
1

√2
tan - 1x

2 + 1
2x

+ c

C. 
1

√2
tan - 1x + 1

2x
+ c

D. 
1

√2
tan - 1x - 1

2x
+ c

Answer: A

Watch Video Solution

7. ∫
1

4 + 5cosx
dx =

A. 
1
3

log
3 + tanx /2
3 - tanx /2

+ c

B. 
1
6

log
3 + tanx /2
3 - tanx /2

+ c

C. 
1
6

log
3 + tanx /2
3 - tanx /2

+ c

D. none

Answer: A

W h Vid S l i

| |
| |
| |

https://dl.doubtnut.com/l/_jaIxFnYOiPQD
https://dl.doubtnut.com/l/_UU2gS1wTiLhw


Watch Video Solution

8. ∫
3cosx + 2sinx
4cosx + 3sinx

dx =

A. 
1
25

log|4cosx + 3sinx| +
18
25

x + c

B. 
1
25

log|4cosx + 3sinx| -
18
25

x + c

C. 
1
25

log|4cosx - 3sinx| +
18
25

x + c

D. none

Answer: A

Watch Video Solution

9. ∫cos - 1 4x3 - 3x dx =

A. xcos - 1x - √1 - x2 + c

B. xcos - 1x - 3√1 - x2 + c

( )

https://dl.doubtnut.com/l/_UU2gS1wTiLhw
https://dl.doubtnut.com/l/_lBO4dL5bbdHf
https://dl.doubtnut.com/l/_KlHHHLN6OrOI


C. 3xcos - 1x - √1 - x2 + c

D. 3xcos - 1x - 3√1 - x2 + c

Answer: D

Watch Video Solution

10. ∫
cos8x - sin8x

1 - 2cos2sin2x
dx =

A. 
1
2

sin2x

B. -
1
2

sin2x

C. `(1)/(2)sin 3x

D. - sin2x

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KlHHHLN6OrOI
https://dl.doubtnut.com/l/_khbkEXQcgcz8
https://dl.doubtnut.com/l/_8CuDUggcUClO


11. If ∫
dx

(2sinx + secx)4 = At5 + Bt6 + Ct7 + k, wher t = (1 + tanx) - 1, then 

A + B + C=

A. 
-86
105

B. 
-01
105

C. 
-16
105

D. 
-26
105

Answer: C

Watch Video Solution

12. ∫
x4 - 1

x2√x4 + x2 + 1
dx =

A. ln
√x4 + x2 + 1

x
+ c

B. 
√x4 + x2 + 1

x
+ c

| |

https://dl.doubtnut.com/l/_8CuDUggcUClO
https://dl.doubtnut.com/l/_Vao6kQM0J3Hn


C. √x4 + x2 + 1 + c

D. 
1

√x4 + x2 + 1
+ c

Answer: B

Watch Video Solution

13. ∫ 1 + tan2x + tan4x + tan6x dx =

A. tan2x +
tan5x

5
+ c

B. tanx +
tan5x

5 + c

C. x +
tan3x

3
+

tan5x
5

+
tan7x

7
+ c

D. tanx +
tan3x

3
+

tan5x
5

+
tan7x

7
+ c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Vao6kQM0J3Hn
https://dl.doubtnut.com/l/_BTQpzAM0rkwa
https://dl.doubtnut.com/l/_xxKtBmKyPWSC


14. If ∫
ex - e - x

e2x + e - 2xdx = Aln
ex + e - x + B

ex + e - x - B
+ c then AB=

A. 2

B. 
1
2

C. -2

D. 
-1
2

Answer: D

Watch Video Solution

| |

15. ∫
(x - 1)dx

(x + 1)√x3 + x2 + x
=

A. 2tan - 1√x3 + x2 + c

B. 2tan - 1√x2 + x + 1 + c

C. 2tan - 1 x +
1
x + 1 + c√

https://dl.doubtnut.com/l/_xxKtBmKyPWSC
https://dl.doubtnut.com/l/_ynzZm6VoRiV2


D. 2tan - 1 x2 + x +
1
x

+ 1 + c

Answer: C

Watch Video Solution

√

16. ∫
2x12 + 5x9

x5 + x3 + 1 3
dx =

xp

q x5 + x3 + 1 r
+ c, then p - q - r=

A. 6

B. 8

C. 10

D. 14

Answer: A

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_ynzZm6VoRiV2
https://dl.doubtnut.com/l/_MGRMafGJHXnw


17. ∫
sin12x - sin9x

2cos7x - 1
dx =

A. 
cos2x

2
-

cos5x
5

+ c

B. 
cos12x

12
-

cos9x
9

+ c

C. 
cos5x

5
-

cos2x
2

+ c

D. 
cos9x

9
-

cos12x
2

+ c

Answer: A

Watch Video Solution

( )

18. If ∫
(1 - cosx)2 / 7

(1 + cosx)9 / 7dx = A tan
x
2

K
+ c, then AK =

A. 
11
7

B. 
121
49

C. 
49
121

( )

https://dl.doubtnut.com/l/_8p6Ld10qpLwo
https://dl.doubtnut.com/l/_jmdLFnnCVOPU


D. 1

Answer: D

Watch Video Solution

19. If y(x - y)2 = x then ∫
dx

x - 3y
=

A. ln (x - y)2 - 1 + c

B. 
1
2

ln (x - 3y)2 - 1

C. 
1
2

ln (x - y)2 - 1

D. ln (x - 3y)2 - 1 + c

Answer: C

Watch Video Solution

| |
| |
| |

| |

https://dl.doubtnut.com/l/_jmdLFnnCVOPU
https://dl.doubtnut.com/l/_Tc96hQlQ1TRd


20. If ∫
(xcosα + 1)dx

x2 + 2xcosα + 1 3 / 2
=

f(x)

√x2 + 2xcosα + 1
+ c then f(x)=

A. x

B. x2

C. 2x

D. 2x2

Answer: A

Watch Video Solution

( )

21. If ∫
1 - (cotx)2012

tanx + (cotx)2013dx =
1
k

ln (f(x))k + (g(x))k + c, then `k

A. 2011

B. 2012

C. 2013

| |

https://dl.doubtnut.com/l/_PjGGXOGSIkZo
https://dl.doubtnut.com/l/_p2KpgANUSx44


EXERCISE 1A

D. 2014

Answer: D

Watch Video Solution

1. ∫
1 - √x

1 + (x)
1
4

dx =

A. x -
4
5x

5 / 4 + c

B. x +
4
5x

5 / 4 + c

C. x -
2
5x

5 / 4 + c

D. x -
3
5x

5 / 4 + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_p2KpgANUSx44
https://dl.doubtnut.com/l/_G9McZSP9zvPR


2. ∫
1 - x4

1 - x
dx =

A. x -
x2

2
-
x3

3
-
x4

4
+ c

B. x +
x2

2
+
x3

3
+
x4

4
+ c

C. 2x +
x2

2
+
x3

3
+
x4

4
+ c

D. x2 +
x2

2 +
x3

3 +
x5

4 + c

Answer: B

Watch Video Solution

3. ∫e3logxdx =

A. 
x3

3
+ c

B. 
x3

3
+ c

https://dl.doubtnut.com/l/_G9McZSP9zvPR
https://dl.doubtnut.com/l/_JPIj8wmf7wyG
https://dl.doubtnut.com/l/_vd1wz3EGnnBZ


C. 
x4

4
+ c

D. 
x4

3
+ c

Answer: C

Watch Video Solution

4. Evaluate the integerals. 

∫elog 1 + tan2x dx on I ⊂ R\
(2n + 1)π

2
: n ∈ Z  .

A. sinx + c

B. cosx + c

C. cotx + c

D. tanx + c

Answer: D

Watch Video Solution

( ) { }

https://dl.doubtnut.com/l/_vd1wz3EGnnBZ
https://dl.doubtnut.com/l/_IyjxzpK4gqC7


5. ∫
e5logx - e4logx

e3logx - e2logx dx =

A. x + c

B. 3x2 + c

C. 
x3

3 + c

D. 
x2

2
+ c

Answer: C

Watch Video Solution

( )

6. ∫ 1 + x +
x2

2!
+

x3

3!
+ ... dx =

A. ex + c

[ ]

https://dl.doubtnut.com/l/_IyjxzpK4gqC7
https://dl.doubtnut.com/l/_v6sgqbhkQ5Gl
https://dl.doubtnut.com/l/_aErJuSahXU7O


B. x + c

C. 2ex + c

D. 2e2x + c

Answer: A

Watch Video Solution

7. ∫
∞

∑ r=o
xr2r

r !
dx =

A. ex + c

B. 
e2x

2
+ c

C. 
-2

1 - 2x
c

D. 2e2x + c

Answer: B

h id l i

( )

https://dl.doubtnut.com/l/_aErJuSahXU7O
https://dl.doubtnut.com/l/_sE5Tpb4iCz8Q


Watch Video Solution

8. ∫cot2xdx =

A. -cotx - x + c

B. tanx - x + c

C. cotx - x + c

D. sinx - x + c

Answer: A

Watch Video Solution

9. ∫sin2xsec2xdx=

A. -cotx - x + c

B. tanx - x + c

https://dl.doubtnut.com/l/_sE5Tpb4iCz8Q
https://dl.doubtnut.com/l/_zmUMI1wWLboT
https://dl.doubtnut.com/l/_j2AtB3Wj6Iz7


C. cotx - x + c

D. sinx - x + c

Answer: B

Watch Video Solution

10. ∫ tanh2xdx =

A. x - tanhx + c

B. x - coshx + c

C. x + tanhx + c

D. x + cothx - c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_j2AtB3Wj6Iz7
https://dl.doubtnut.com/l/_waOMS2qKRw1I
https://dl.doubtnut.com/l/_LBnIHEMtC6qD


11. ∫ (tanx - cotx)2dx =

A. tanx + x + c

B. tanx - x + c

C. tanx - cotx + c

D. tanx - cotx - 4x + c

Answer: D

Watch Video Solution

12. ∫
cos2x

1 - sinx
dx =

A. x - cosx + c

B. x + cosx + c

C. 2x - cosx + c

D. x + sinx + c

https://dl.doubtnut.com/l/_LBnIHEMtC6qD
https://dl.doubtnut.com/l/_QzGBxdsEwnGb


Answer: A

Watch Video Solution

13. ∫
sin2x

1 + cosx
dx =

A. x + sinx + c

B. x - sinx + c

C. -x + sinx + c

D. 2x - sinx + c

Answer: B

Watch Video Solution

14. ∫
1

1 + cosx
dx =

https://dl.doubtnut.com/l/_QzGBxdsEwnGb
https://dl.doubtnut.com/l/_IRcyETOaGjyA
https://dl.doubtnut.com/l/_amhJMX7GD3ul


A. cotx - cosecx + c

B. -cotx + cosecx + c

C. -cotx - cosecx + c

D. cotx - secx + c

Answer: B

Watch Video Solution

15. ∫sec2cosec2xdx =

A. tanx + x + c

B. tanx - x + c

C. tanx - cotx + c

D. tanx - cotx - 4x + c

Answer: C

https://dl.doubtnut.com/l/_amhJMX7GD3ul
https://dl.doubtnut.com/l/_T1BuTJUagiIy


Watch Video Solution

16. ∫
1

1 + cos2x
dx =

A. 
1
2

tanx + c

B. -
1
2

tanx + c

C. 2tanx + c

D. -2tanx + c

Answer: A

Watch Video Solution

17. ∫
1 + sin2x
1 + cos2x

dx =

A. 2tanx -
1
2
x + c

B. tanx -
1
2
x + c

https://dl.doubtnut.com/l/_T1BuTJUagiIy
https://dl.doubtnut.com/l/_f5VqioW2vBW0
https://dl.doubtnut.com/l/_4e4PVCR7Jmfg


C. tanx +
1
2
x + c

D. 2tanx -
1
2
x + c

Answer: B

Watch Video Solution

18. ∫
a + bsinx

cos2x
dx =

A. atanx + bsec + c

B. atanx - bsecx + c

C. atanx + bcotx + c

D. asinx + bsecx + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4e4PVCR7Jmfg
https://dl.doubtnut.com/l/_jiJaKGIPexJ8
https://dl.doubtnut.com/l/_0G2D1sMLObnv


19. ∫
2 - 3cosx

sin2x
dx =

A. 2cotx - 3cosecx + c

B. -2cotx + 3cosecx + c

C. -2cotx + cosecx + c

D. cotx + 5cosecx + c

Answer: B

Watch Video Solution

20. ∫√1 - sin2xdx =

A. sinx - cosx + c

B. sinx + cosx + c

C. 2sin - cosx + c

D. sinx - 2cosx + c

https://dl.doubtnut.com/l/_0G2D1sMLObnv
https://dl.doubtnut.com/l/_pJ5brkg8jUeO


Answer: B

Watch Video Solution

21. If x ∈ ( - π /2, π /2) then ∫√1 + cos2xdx =

A. 2√2sinx + c

B. √3sinx + c

C. √2sinx + c

D. 3√2sinx + c

Answer: C

Watch Video Solution

22. ∫
sinx + cosx

√1 + sin2x
dx =

https://dl.doubtnut.com/l/_pJ5brkg8jUeO
https://dl.doubtnut.com/l/_GN5gGGtaKtvG
https://dl.doubtnut.com/l/_PrnOaD85TQBu


A. -x + c

B. x + c

C. cosx + sinx + c

D. sinx - cosx + c

Answer: B

Watch Video Solution

23. ∫
sin3x + cos3x

sin2xcos2x
dx =

A. sinx + cosx + c

B. tanx + cotx + c

C. secx - cosecx + c

D. sinx - cosx + c

Answer: C

https://dl.doubtnut.com/l/_PrnOaD85TQBu
https://dl.doubtnut.com/l/_2nePbHtVnGO9


Watch Video Solution

24. ∫
3cos2x + 4sin2x

cos2xsin2x
dx =

A. -3cotx + 2tanx + c

B. 3cotx + 4tanx + c

C. -3cotx + 4tanx + c

D. -3cotx - 4tanx + c

Answer: C

Watch Video Solution

25. ∫
acos3x + bsin3x

cos2xsin2x
dx =

A. acosecx + bsecx + c

B. -acosexx + bsecx + c

https://dl.doubtnut.com/l/_2nePbHtVnGO9
https://dl.doubtnut.com/l/_4ilUZTJ93c5v
https://dl.doubtnut.com/l/_B0S08aF3YDRp


C. -acosecx - bsecx + c

D. a - cosecx + asecx + c

Answer: B

Watch Video Solution

26. If ∫
sin8x - cos8x

1 - 2sin2cos2x
dx = Asin2x + B,  then A=

A. -
1
2

B. -1

C. 
1
2

D. 1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_B0S08aF3YDRp
https://dl.doubtnut.com/l/_zPb0O5F3AExS
https://dl.doubtnut.com/l/_DioNOjCNAefr


27. ∫
exdx

coshx + sinhx
=

A. logcoshx + c

B. 2log coshx + sinh - 1x + c

C. 
1
2
e2x + c

D. x + c

Answer: D

Watch Video Solution

( )

28. ∫
sinhx

1 + sinh2x
dx

A. sechx + c

B. - sechx + c

C. tanhx + c

D. none

https://dl.doubtnut.com/l/_DioNOjCNAefr
https://dl.doubtnut.com/l/_BnehEPSqZT63


Answer: B

Watch Video Solution

29. ∫√1 + 2cotx(cotx + cosecx)dx =

Watch Video Solution

30. ∫ (1 - cosx)cosec2xdx = f(x) + c ⇒ f(x) =

A. √cotx + cosecx + c

B. tanx /2 + c

C. log|cosecx - cotx|c

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BnehEPSqZT63
https://dl.doubtnut.com/l/_N8KjeAY0Fw6E
https://dl.doubtnut.com/l/_U97Nzc4CQgaL


31. ∫ (1 - cosx)cosec2xdx = f(x) + c ⇒ f(x) =

A. tan
x
2

B. cot
x
2

C. 2tan
x
2

D. 
1
2

tan
x
2

Answer: A

Watch Video Solution

32. ∫
x2 - 1

x2 + 1
dx =

A. x - 2tan - 1x + c

B. 2x - 2tan - 1x + c

C. x + 2tan - 2x + c

https://dl.doubtnut.com/l/_U97Nzc4CQgaL
https://dl.doubtnut.com/l/_Vc2ZvSxIrzI3
https://dl.doubtnut.com/l/_Q6v6c9fNDOPo


D. x - 2tan - 1x + c

Answer: D

Watch Video Solution

33. ∫
x4

x2 + 1
dx

A. 
x3

3
- x + tan - 1x + c

B. 
x5

5
+ tan - 1x + c

C. 4x3 + tan - 1x + c

D. 
x4

4 + x + tan - 1x + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Q6v6c9fNDOPo
https://dl.doubtnut.com/l/_nOtPz4HifwdQ


34. ∫
x5

x2 + 1
 dx =

A. 
x4

4
+
x2

2
+ tan - 1x + c

B. 
x4

4
-
x2

2
+

1
2

log x2 + 1 + c

C. 
x4

4 +
x2

2 + tan - 1x + c

D. 
x4

4
-
x3

3
- tan - 1e

Answer: B

Watch Video Solution

( )

35. ∫
1
x

√x - 1

√x + 1
dx =

A. cosh - 1x - sec - 1x + c

B. cosh - 1x + sec - 1x + c

C. sinh - 1x - sec - 1x + c

[ ]

https://dl.doubtnut.com/l/_D35uvWRNbTzt
https://dl.doubtnut.com/l/_En77VEeKrS1C


D. sinh - 1x - cosec - 1x + c

Answer: A

Watch Video Solution

36. ∫
1

√1 - x2
+ 2x + ex dx =

A. sin - 1x +
2x

log2
+ ex + e

B. sin - 1x -
2x

log2
+ ex + c

C. sin - 1x +
3x

log3 + ex + c

D. cos - 1x +
2x

log2
+ ex + c

Answer: A

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_En77VEeKrS1C
https://dl.doubtnut.com/l/_WLYjRqQeoV6L
https://dl.doubtnut.com/l/_rRUPufSPqOUP


37. ∫
√1 - x2 + √1 + x2

√1 - x4
dx =

A. log x + √1 + x2 + sin - 1x + c

B. sinh - 1x - sin - 1x + c

C. cos - 1 - sin - 1x + c

D. tan - 1x + sin - 1x + c

Answer: A

Watch Video Solution

( )

38. ∫23x32x5xdx =

A. 
23x32x5x

log(720)
+ c

B. 
23x32x5x

log(360) + c

C. 
23x32x5x

log(180)
+ c

https://dl.doubtnut.com/l/_rRUPufSPqOUP
https://dl.doubtnut.com/l/_OKUn2H4xOKDX


D. 
23x32x5x

log(90)
+ ce

Answer: B

Watch Video Solution

39. ∫
ax + bx

2

axbx
dx =

A. 
(a /b)x + (b /a)x

loga + logb
- 2x + c

B. 
(a /b)x + (b /a)x

loga - logb
- 2x + c

C. 
(a /b)x - (b /a)x

loga - logb
+ 2x + c

D. 
(a /b)x + (b /a)x

loga + logb + 2x + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_OKUn2H4xOKDX
https://dl.doubtnut.com/l/_cAk3wQhJej6P
https://dl.doubtnut.com/l/_VYqxdh5fUrmt


40. ∫e3 - 5xdx =

A. -
1
5e

3 - 5x + c

B. 
1
5e

3 - 5x + c

C. -
1
2e

3 - 5x + c

D. -
1
5e

3 - 5x + c

Answer: A

Watch Video Solution

41. ∫exlogaexdx =

A. exloga + ex + c

B. 
(ae)x

logae
+ c

C. 
xx

1 + loga
+ c

D. 
aex

loga
+ c

( )

https://dl.doubtnut.com/l/_VYqxdh5fUrmt
https://dl.doubtnut.com/l/_3kSDXAANgmmi


Answer: B

Watch Video Solution

42. ∫
1

√4 - 5x
dx =

A. 
3
5√4 - 5x + c

B. -
2
5√4 - 5x + c

C. 
2
5√4 - 5x + c

D. -
2
5√4 + 5x + c

Answer: B

Watch Video Solution

43. ∫
1

(2 - 3x)2dx =

https://dl.doubtnut.com/l/_3kSDXAANgmmi
https://dl.doubtnut.com/l/_V5wpbLS50Gk1
https://dl.doubtnut.com/l/_awwgwL3YtKYK


A. 
1
3

((2 - 3x)) + c

B. 
4

3(2 - 3x)
+ c

C. 
1

3(2 + 3x)
+ c

D. 
2

(2 - 3x)
+ c

Answer: A

Watch Video Solution

44. ∫
1

x2 + 4x + 4
dx =

A. 
1

x + 2 + c

B. -
1

x + 2 + c

C. 
2

x + 2 + c

D. 
1

x - 2 + c

Answer: B

https://dl.doubtnut.com/l/_awwgwL3YtKYK
https://dl.doubtnut.com/l/_1s7neENrBDeo


Watch Video Solution

45. ∫sec25xdx =

A. 
2
1 tan5x + c

B. 
1
2 tan5x + c

C. 
1
5 tan5x + c

D. 
1
3 tan3x + c

Answer: C

Watch Video Solution

46. ∫secx /3tanx /3dx

A. 3secx /3 + c

B. 2secx /2 + c

https://dl.doubtnut.com/l/_1s7neENrBDeo
https://dl.doubtnut.com/l/_UCU1la4B4Tsz
https://dl.doubtnut.com/l/_BOP2DByQoAmU


C. secx /3 - c

D. 2secx /3 + c

Answer: A

Watch Video Solution

47. ∫sin2xcos2xdx =

A. 
1
2

- x
sin4x

4
+ c

B. 
1
8

x -
sin4x

4
+ c

C. 
1
8

x +
sin4x

4
+ c

D. none

Answer: B

Watch Video Solution

( )
( )
(

https://dl.doubtnut.com/l/_BOP2DByQoAmU
https://dl.doubtnut.com/l/_XIX7l5P9REET


48. ∫cos3xdx =

A. 
3
4

sinx +
1
12

sin3x + c

B. 
3
4

sinx -
1

12
sin3x + c

C. -
3
4

sinx +
1

12
sin3x + c

D. -
3
4

sinx -
1

12
sin3x + c

Answer: A

Watch Video Solution

49. Evaluate the integerals. 

∫sin3xdxonR.

A. 
1
8

3x + 2sin2x -
1
2

sin4x + c

B. 
1
8

3x - 2sin2x +
1
2

sin4x + c

[ ]
[ ]

https://dl.doubtnut.com/l/_4ieSAmnEcGdY
https://dl.doubtnut.com/l/_mSHmklQmJZzd


C. 
1
8

3x - 2sin2x -
1
4

sin4x + c

D. none

Answer: B

Watch Video Solution

[ ]

50. ∫sin2xcos4xdx =

A. 
x

16
+

sin2x
64

+
sin4x

64
+

sin6x
192

+ c

B. 
x
6

+
sin2x

34
-

sin4x
44

-
sin6x
192

+ c

C. 
x

16
+

sin2x
64

-
sin4x

64
-

sin6x
192

+ c

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mSHmklQmJZzd
https://dl.doubtnut.com/l/_W44fIoSmVtnp
https://dl.doubtnut.com/l/_jhC1hR3T9V7H


51. ∫sin5xcos3xdx =

A. 
1
2

cos2x
2

+
1
8

cos8x + c

B. 
1
2

-
cos2x

2
+

1
8

cos8x + c

C. 
1
2

-
cos2x

2
-

1
8

cos8x + c

D. none

Answer: C

Watch Video Solution

[ ]
[ ]
[ ]

52. ∫cos4xcos3xdx =

A. 
1
2

-
1
7

sin7x + sin + c

B. 
1
2

1
7

sin7x + sin + c

C. 
1
2

1
7

sin7x - sin + c

[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_jhC1hR3T9V7H
https://dl.doubtnut.com/l/_pPexSYgkZfuo


D. none

Answer: B

Watch Video Solution

53. ∫cosxcos2xcos3xdx =

A. 
1
4

1
6

sin6x +
1
2

sin -
1
4

sin4x + x + c

B. 
1
4

1
6

sin6x -
1
2

sin -
1
4

sin4x + x + c

C. 
1
4

1
6

sin6x +
1
2

sin2x +
1
4

sin4x + x + c

D. none

Answer: C

Watch Video Solution

[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_pPexSYgkZfuo
https://dl.doubtnut.com/l/_LBvd6kulZVYJ


54. ∫√1 + cosxdx =

A. √2sinx /2 + c

B. 2√2sinx /2 + c

C. 3√2sinx /2 + c

D. none

Answer: B

Watch Video Solution

55. ∫√1 + sinxdx =

A. 2sinx /2 + 2cosx /2 + c

B. 2sinx /2 - cos + c

C. 2sinx /2 - cosx /2 + c

D. none

https://dl.doubtnut.com/l/_LyweFo5WKS1t
https://dl.doubtnut.com/l/_AgtIj1RYVGry


Answer: C

Watch Video Solution

56. If x ∈ ( - π, π) then ∫√1 + sinx /2dx =

A. 2[sinx /4 - cosx /4] + c

B. 4[sinx /4 + cosx /4] + c

C. 4[sinx /4 - cosx /2] + c

D. 4[sinx /4 - cosx /4] + c

Answer: D

Watch Video Solution

57. ∫
1 + cosx
1 - cosx

dx =

https://dl.doubtnut.com/l/_AgtIj1RYVGry
https://dl.doubtnut.com/l/_cUzOh7jgdC4Q
https://dl.doubtnut.com/l/_QUpi35ogmQls


A. 2cotx /2 - x + c

B. -2cotx /2 - x + c

C. -2cotx /2 + x + c

D. none

Answer: B

Watch Video Solution

58. ∫
tanx

1 + tan2x
dx =

A. 
1
2cos2x + c

B. -
1
2cos2x + c

C. 
1
4cos2x + c

D. -
1
4cos2x + c

Answer: D

https://dl.doubtnut.com/l/_QUpi35ogmQls
https://dl.doubtnut.com/l/_etchDRh7zXj9


Watch Video Solution

59. ∫xcos x2 dx =

A. 
1
2

sin x2 + c

B. 
1
3

sin x2 + c

C. -
1
2

sin x2 + c

D. none

Answer: A

Watch Video Solution

( )

( )
( )
( )

60. ∫xsin - x2 dx =

A. -
1
3

cos x2 + c

B. 
1
2

cos x2 + c

( )

( )
( )

https://dl.doubtnut.com/l/_etchDRh7zXj9
https://dl.doubtnut.com/l/_39ZOIl1GFMnV
https://dl.doubtnut.com/l/_qANglRhLg4Tv


C. 
1
3

cos x2 + c

D. none

Answer: B

Watch Video Solution

( )

61. ∫x2sin x3 dx

A. -
1
3

cos x3 + c

B. 
1
3

cos x3 + c

C. -
1
3

sin x3 + c

D. none

Answer: A

Watch Video Solution

( )

( )
( )
( )

https://dl.doubtnut.com/l/_qANglRhLg4Tv
https://dl.doubtnut.com/l/_8hHO1ixyePkj
https://dl.doubtnut.com/l/_3Z19D85jFUvS


62. ∫x3sec2 x4 dx =

A. -
1
4

tan x4 + c

B. -
1
2

tan x4 + c

C. 
1
4

tan x4 + c

D. none

Answer: C

Watch Video Solution

( )

( )
( )

( )

63. ∫2x x2 + 1 5dx =

A. 
1
6

x2 + 1 6 + c

B. 
1
6

x2 - 1 6 + c

C. -
1
6

x2 + 1 6 + c

D. 
1
6

x2 + 1 6 + c

( )

( )
( )
( )

( )

https://dl.doubtnut.com/l/_3Z19D85jFUvS
https://dl.doubtnut.com/l/_pM9AGaHyGgIw


Answer: D

Watch Video Solution

64. ∫
x

√x2 + 1
dx =

A. √x2 + 1 + c

B. 2√x2 + 1 + c

C. √x2 - 1 + c

D. none

Answer: A

Watch Video Solution

65. ∫ (4x + 3)√2x2 + 3x + 5dx =

https://dl.doubtnut.com/l/_pM9AGaHyGgIw
https://dl.doubtnut.com/l/_xlcfA2D4WDZL
https://dl.doubtnut.com/l/_Ny87aaNgqX7K


A. 
1
3

2x2 + 3x + 5 3 / 2 + c

B. 
2
3

2x2 + 3x + 5 3 / 2 + c

C. 
2
3

2x2 - 3x - 5 3 / 2 + c

D. 
2
3

2x2 + 3x + 5 3 / 2 + c

Answer: D

Watch Video Solution

( )
( )
( )
( )

66. ∫
1

sinxcos2x
dx =

A. log tan
x
2 + secx + c

B. log tan
x
2 - secx + c

C. log tan
x
2 + secx + c

D. none

| |
| |
| |

https://dl.doubtnut.com/l/_Ny87aaNgqX7K
https://dl.doubtnut.com/l/_MaTXLvVHZJP6


Answer: A

Watch Video Solution

67. ∫
cos2x

(cosx - sinx)2dx =

A. log| - 1sin2x| + c

B. log|cosxsinx| + c

C. - log|cosx - sinx| + c

D. 
1

cosx - sinx + c

Answer: C

Watch Video Solution

68. ∫
1 + cos4x
cotx - tanx

dx =

https://dl.doubtnut.com/l/_MaTXLvVHZJP6
https://dl.doubtnut.com/l/_1v2iy4yGFlFE
https://dl.doubtnut.com/l/_fov3KpYLvKic


A. -
1
4

cos4x + c

B. -
1
8

cos4x + c

C. 
1
4

sin4x + c

D. -
1
8

sin4x + c

Answer: B

Watch Video Solution

69. ∫
sin - 1x

√1 - x2
dx =

A. 
1
2

sin - 1 + c

B. 
1
2

sin - 1x 2 + c

C. 2sin - 1x + c

D. -
1
8

cos4x + c

Answer: B

( )

https://dl.doubtnut.com/l/_fov3KpYLvKic
https://dl.doubtnut.com/l/_u6dDPHtKHezh


Watch Video Solution

70. ∫
1

1 + ex 1 + e - x
dx =

A. -
1

1 + ex
+ c

B. 
1

1 + ex
+ c

C. -
2

1 + ex
+ c

D. 
1

1 - ex
+ c

Answer: A

Watch Video Solution

( ) ( )

71. ∫
sin6x

cos8x
dx =

A. tan7x + c

https://dl.doubtnut.com/l/_u6dDPHtKHezh
https://dl.doubtnut.com/l/_z6QsU0tW8hDh
https://dl.doubtnut.com/l/_telDqOK4EDVt


B. 
1
9

tan9x + c

C. 
1
7

tan7x + c

D. sec2x + c

Answer: B

Watch Video Solution

72. ∫
tan9x

sinxcosx
dx =

A. 
1
10

tan9x + c

B. 
1
5

tan9x + c

C. 
1
7

tan9x + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_telDqOK4EDVt
https://dl.doubtnut.com/l/_W2aiRTkhG2bO


73. ∫
secx

acosx + bsinx
dx =

A. 
1
a

log|acotx + b| + c

B. alog|a + btanx| + c

C. blog|a + btanx| + c

D. 
1
b

log|a + btanx| + c

Answer: D

Watch Video Solution

74. ∫
1

√x(1 + x)
dx =

A. 2tan - 1 √x + c

B. tan - 1 √x + c

C. tan - 1 √x + c

( )

( )

( )

https://dl.doubtnut.com/l/_W2aiRTkhG2bO
https://dl.doubtnut.com/l/_vKrJ6CvHDQH1
https://dl.doubtnut.com/l/_k9kpYiufZtb4


D. none

Answer: A

Watch Video Solution

75. ∫
xsin - 1 x2

√1 - x4
dx =

A. 
1
4 sin - 1x2 + c

B. 
1
3 sin - 1x2 + c

C. 
1
2 sin - 1x2 + c

D. none

Answer: A

Watch Video Solution

( )

( )
( )
( )

https://dl.doubtnut.com/l/_k9kpYiufZtb4
https://dl.doubtnut.com/l/_uXudzlgUDgUk
https://dl.doubtnut.com/l/_savy2Hc3Lakm


76. ∫
cos cot - 1x

1 + x2 dx =

A. - sin sin - 1x

B. sin cot - 1x

C. - sin cot - 1x

D. none

Answer: C

Watch Video Solution

( )

( )
( )
( )

77. ∫
x49tan - 1 x50

1 + x100
dx = k tan - 1 x50 2 + c ⇒ k =

A. 1/50

B. -1 /50

C. 1/100

( )
( ) ( ( )

https://dl.doubtnut.com/l/_savy2Hc3Lakm
https://dl.doubtnut.com/l/_aA7iok1Tybld


D. -1 /100

Answer: C

Watch Video Solution

78. ∫
x + sin - 1x

√1 - x2
= dx

A. -√1 - x3 + (1/2) sin - 1x 2 + c

B. -√1 - x2 + (1/2) sin - 1x 2 + c

C. √1 - x2 + sin - 1x + c

D. none

Answer: A

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_aA7iok1Tybld
https://dl.doubtnut.com/l/_6ekWDuIpqeCL


79. ∫
tan sin - 1x

√1 - x2
dx =

A. log sin sin - 1 + c

B. -log cos sin - 1x + c

C. tan sin - 1 + c

D. none

Answer: B

Watch Video Solution

( )

| ( )|
| ( )|
( )

80. ∫
ex

√1 + ex
dx =

A. √ex - 1 + c

B. √ex + 1 + c

( )

https://dl.doubtnut.com/l/_Hr5fR3J42Nep
https://dl.doubtnut.com/l/_Jbx6oIbiGAUb


C. 3√ex + 1 + c

D. 2√ex + 1 + c

Answer: D

Watch Video Solution

81. ∫
1

√x
cos √x dx =

A. 3sin√x + c

B. 2sin√x + c

C. sin√x + c

D. none

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Jbx6oIbiGAUb
https://dl.doubtnut.com/l/_KqyJnckqI3Bu
https://dl.doubtnut.com/l/_Fyc486wN2aX8


82. ∫
2

x 1 + (logx)2
dx =

A. 2m - 1(logx) + c

B. -2tan - 1(logx) + c

C. 2tan - 1(logx) + c

D. none

Answer: C

Watch Video Solution

[ ]

83. ∫sin3xcosxdx =

A. 
1
2

sin4x + c

B. 
1
4

sin4x + c

C. 
1
3

sin4x + c

https://dl.doubtnut.com/l/_Fyc486wN2aX8
https://dl.doubtnut.com/l/_7nIIfewSxlrV


D. none

Answer: B

Watch Video Solution

84. ∫sec2xtan2xdx =

A. 
1
2

tan3x + c

B. tan3x + c

C. 
1
3

tan3x + c

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7nIIfewSxlrV
https://dl.doubtnut.com/l/_m9IVjNT4zQp3


85. ∫sin5 / 2xcos3xdx =

A. 2sin7 / 2x
1
7

+
1
11

sin2x + c

B. 2sin7 / 2x
1
7

-
1
11

sin2x + c

C. 3sin7 / 2x
1
5

-
1
9

sin2x + c

D. none

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

86. ∫ tan4xdx =

A. 
1
3

tan3x + x + c

B. tan3x - tanx - x + c

C. 
1
3

tan3 - tanx + x + c

https://dl.doubtnut.com/l/_RGgzLamhjSZN
https://dl.doubtnut.com/l/_jgD2eETL3bEm


D. tan3x - tanx + x + c

Answer: C

Watch Video Solution

87. ∫
(1 + x)ex

sin2 xex
dx =

A. -cot xex + c

B. cot xex - c

C. cot xex + c

D. none

Answer: A

Watch Video Solution

( )

( )
( )
( )

https://dl.doubtnut.com/l/_jgD2eETL3bEm
https://dl.doubtnut.com/l/_5Nx9MAWgTmuj


88. ∫
(1 + x)ex

cos2 xex
dx =

A. cot xex + c

B. tan xex + c

C. sin xex + c

D. none

Answer: B

Watch Video Solution

( )

( )
( )
( )

89. ∫esin2x+ cosx(sin2x - sinx)dx =

A. -esin2x+ cosx + c

B. esin2x+ cosx + c

C. 2esin2x+ cosx + c

https://dl.doubtnut.com/l/_8EGBmim6qAQj
https://dl.doubtnut.com/l/_YZbyQP7qGwFR


D. none

Answer: B

Watch Video Solution

90. ∫
x3

√1 - x8
dx =

A. 
1
4

sin - 1 x4 + c

B. 
1
2

sin - 1 x4 + c

C. 
1
4

cos - 1 x4 + c

D. none

Answer: A

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_YZbyQP7qGwFR
https://dl.doubtnut.com/l/_ldRGTBC5cFsr


91. ∫
√x

√a3 - x3
dx = g(x) + c ⇒ g(x) =

A. 
2
3

cos - 1 - x

B. 
2
3

sin - 1 x3

a3

C. 
2
3sin - 1

√x3

√a3

D. 
2
3

cos - 1 x
a

Answer: C

Watch Video Solution

[ ]

( )
( )
( )

92. ∫
dx

x2√4 + x2
=

A. 
1
4√4 + x2 + c

https://dl.doubtnut.com/l/_eNgQBnBK790e
https://dl.doubtnut.com/l/_AJHKOSpL1yW2


B. 
-1
4 √4 + x2 + c

C. 
-1
4x√4 + x2 + c

D. 
9
4x√4 + x2 + c

Answer: C

Watch Video Solution

93. ∫
x

1 + x4dx =

A. 
1
2 tan - 1 x2 + c

B. 
1
4 tan - 1 x2 + c

C. 
1
3 tan - 1 x2 + c

D. none

Answer: A

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_AJHKOSpL1yW2
https://dl.doubtnut.com/l/_smIBRPDwfoA5


94. ∫
x3

1 + x8dx =

A. 
1
2 tan - 1x4 + c

B. 
1
3 tan - 1x4 + c

C. 
1
4 tan - 1x4 + c

D. none

Answer: C

Watch Video Solution

95. ∫
x4 + 1

1 + x6dx =

A. tan - 1(x) - tan1x3 + c

B. tan - 1(x) -
1
3 tan - 1 x3 + c

C. tan - 1(x) + tan - 1 x3 + c

)
( )

( )

https://dl.doubtnut.com/l/_smIBRPDwfoA5
https://dl.doubtnut.com/l/_gEeaaGnJNuit
https://dl.doubtnut.com/l/_YBUclFUQJ51l


D. tan - 1(x) +
1
3

tan - 1 x3 + c

Answer: D

View Text Solution

( )

96. ∫
x3 - 1

x3 + x
dx =

A. x - logx + log x2 + 1 - tan - 1x + c

B. x - logx +
1
2

log x2 + 1 - tan - 1x + c

C. x + logx + log x2 + 1 - tan - 1x + c

D. x + logx +
1
2

log x2 + 1 - tan - 1x + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_YBUclFUQJ51l
https://dl.doubtnut.com/l/_ghSrN54XEquI


97. ∫
x3 + 1

x2 + 1
dx

A. 
x2

2
-

1
2

log x2 + 1 + tan - 1x + c

B. 
x2

2
+

1
2

log x2 - 1 + tan - 1x + c

C. 
x2

3 -
1
3 log x2 - 1 + tan - 1x + c

D. none

Answer: A

Watch Video Solution

( )
( )
( )

98. The integral ∫
dx

x2 x4 + 1
3 / 4

 equals

A. 
x4 + 1

x4

1 / 4
+ c

B. x4 + 1 1 / 4 + c

( )

( )
( )

https://dl.doubtnut.com/l/_fjiw9z46OFPD
https://dl.doubtnut.com/l/_ttLOiwgiZ9uK


C. - x4 + 1 1 / 4 + c

D. -
x4 + 1

x4

1 / 4
+ c

Answer: D

Watch Video Solution

( )

( )

99. the integral ∫
2x12 + 5x9

x5 + x3 + 1 3
dx is equal to

A. 
-x5

x5 + x3 + 1 2
+ C

B. 
x10

2 x5 + x3 + 1 2
+ C

C. 
-x5

2 x5 + x3 + 1 2
+ C

D. 
-x10

2 x2 + x3 + 1 2
+ C

Answer: B

( )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_ttLOiwgiZ9uK
https://dl.doubtnut.com/l/_nU1NBs18Gjg4


Watch Video Solution

100. ∫
sin2x

1 + sin4x
dx =

A. tan - 1 sin2x + c

B. - tan - 1 sin2 + x + c

C. tan - 1 cos2 + x + c

D. none

Answer: A

Watch Video Solution

( )
( )

( )

101. ∫
1 + cosx

(x + sinx)2dx =

A. 
1

x - sinx
+ c

B. 
1

x + sinx
+ c

https://dl.doubtnut.com/l/_nU1NBs18Gjg4
https://dl.doubtnut.com/l/_Ct691WS0VkzG
https://dl.doubtnut.com/l/_rbu05sj8iPiv


C. -
1

x + sinx
+ c

D. none

Answer: C

Watch Video Solution

102. ∫
x + 1

√x2 + 2x + 3
dx =

A. √x2 + 2x + 3 + c

B. 2√x2 + 2x + 3 + c

C. -√x2 - 2x - 3 + c

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rbu05sj8iPiv
https://dl.doubtnut.com/l/_XEcGN0XnaRv0
https://dl.doubtnut.com/l/_mfiYMYcrkeZG


103. ∫
1

√e2x - 1
dx =

A. tan - 1 e - x + c

B. sin - 1 e - x + c

C. - sin - 1 e - x + c

D. none

Answer: C

Watch Video Solution

( )
( )
( )

104. ∫
cosx

√2 + 3sinx
dx =

A. 
2
3√2 + 3sinx + c

B. 
2
3√2 + 3sinx - c

C. 
2
3√2 - 3sinx + c

https://dl.doubtnut.com/l/_mfiYMYcrkeZG
https://dl.doubtnut.com/l/_o00nk4kHRRUU


D. none

Answer: A

Watch Video Solution

105. ∫
sin2x

acos2x + bsin2x
dx =

A. 
1

b + a log cos2x + bsin2x + c

B. 
1

b - a log + acos2x - bsin2x c

C. 
1

b - a log acos2 + x + bsin2x + c

D. none

Answer: C

Watch Video Solution

| |
| |

| |

https://dl.doubtnut.com/l/_o00nk4kHRRUU
https://dl.doubtnut.com/l/_4yxLKNt6kZLB


106. ∫
log 1 +

1

x

x(1 + x)
dx =

A. 
[log(x + 1)]2

2
-

(logx)2

2
+ log(x + 1) + c

B. -
1
2

log2(1 + 1/x) + c

C. 
1
2

[log(x + 1)]2 +
1
2

(logx)2 + c

D. 
-1
2

log(x + 1)2 + log(x + 1)logx + c

Answer: B

Watch Video Solution

( )

[

107. ∫
secx

(secx + tanx)2dx =

A. -
1

2(secx + tanx)2 + c

B. 
1

(secx + tanx)2 + c

C. 
1

2(secx - tanx)2 + c

https://dl.doubtnut.com/l/_CSaSJ6yTSAjw
https://dl.doubtnut.com/l/_GSITgTFARUl7


D. none

Answer: A

Watch Video Solution

108. ∫
secx

√secx + tanx
dx =

A. 
-2

√secx + tanx
+ c

B. 
2

√secx + tanx
+ c

C. 2√sec + tanx + c

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GSITgTFARUl7
https://dl.doubtnut.com/l/_Z9SsYerSJ08j


109. ∫
sec2x

(secx + tanx)5dx =

A. 
1

4(secx + tanx)4

1
2

-
1

(3secx + tanx)2 + c

B. -
1

4(secx + tanx)4

1
2

+
1
3

(secx + tanx)2 + c

C. -
1

4(secx + tanx)4

1
3

+
1

(3secx + tanx)2 + c

D. none

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

110. ∫secxlog(secx + tanx)dx =

A. [log(secx + tanx)]2 + c

B. 
1
2

[log(secx - tanx)]2 + c

https://dl.doubtnut.com/l/_Uhj7uSyCkb0P
https://dl.doubtnut.com/l/_Bs0U99O850H2


C. 
1
2

[log(secx + tanx)]2 + c

D. 
1
3

[log(secx + tanx)]2 + c

Answer: C

Watch Video Solution

111. ∫ (1 + 2)tanx(tanx + secx)}1 / 2dx =

A. log|secx(secx - tanx)| + c

B. log|secx(secx + tanx)| + c

C. log
scx

secx + tanx
+ c

D. log|cosx(secx + tanx)| + c

Answer: B

Watch Video Solution

| |

https://dl.doubtnut.com/l/_Bs0U99O850H2
https://dl.doubtnut.com/l/_5T9VAjI5CHRF
https://dl.doubtnut.com/l/_coubaJ9hCZ0w


112. itncosecxlog(cosecx - cotx)dx =

A. 
1
2

log2(cosecx + cot) + c

B. 
1
2

log2(cosecx - cot) + c

C. -
1
2

log2(cosecx - cot) + c

D. 
1
3

log2(cosecx - cot) + c

Answer: B

Watch Video Solution

113. ∫
sec2x

√a + btanx
dx =

A. 
1
b

2√a + btanx + c

B. -
1
b

2√a + btanx + c

C. 
1
b

2√a - btanx + c

D. none

https://dl.doubtnut.com/l/_coubaJ9hCZ0w
https://dl.doubtnut.com/l/_xIq6GObtM3Mj


Answer: A

Watch Video Solution

114. ∫
log(tanx)
sinxcosx

dx =

A. log2(tanx) + c

B. 
1
2

(logtanx)2 + c

C. log(logtanx) + c

D. none

Answer: B

Watch Video Solution

115. ∫
x + √a2 + x2 n

√a2 + x2
dx(n ≠ 0) =

[ ]

https://dl.doubtnut.com/l/_xIq6GObtM3Mj
https://dl.doubtnut.com/l/_zgQe4WwPcXuK
https://dl.doubtnut.com/l/_t2WMfalawr3W


A. 
1

n + 1
x + √a2 + x2 n+ 1

+ c

B. 
1

n ⋅ x + √a2 + x2 n
+ c

C. x + √a2 + x2 n
+ c

D. 
1
n

x + √a2 + x2 n
+ c

Answer: D

Watch Video Solution

( )

( )
( )

( )

116. If ∫ (sin2x - cos2x)dx =
1

√2
sin(2x - a) + c then a =

A. 5π /4

B. -5π /4

C. π /4

D. 3π /4

https://dl.doubtnut.com/l/_t2WMfalawr3W
https://dl.doubtnut.com/l/_tRBLDmMBn4DZ


Answer: B

Watch Video Solution

117. ∫
sinxcosx

sin4 + cos4x
dx =

A. tan - 1(sinx) + c

B. 
1
2 tan - 1(sin2x) + c

C. 
1
2 tan - 1 tan2x + c

D. 
1
2 tan - 1 cot2x + c

Answer: C

Watch Video Solution

( )
( )

118. ∫
sinxcosx

1 + cos4x
dx =

https://dl.doubtnut.com/l/_tRBLDmMBn4DZ
https://dl.doubtnut.com/l/_kxF5IvvM3Nei
https://dl.doubtnut.com/l/_HutiYj9VhNys


A. 
1
2

cot - 1 cos2x + c

B. 
1
2

tan - 1 cos2x + c

C. 2cot - 1 cos2x + c

D. 2tan - 1 cos2x + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

119. ∫
sec2x

log(tanx)tanxdx =

A. log ∣ log(tanx)tanx
∣ + c

B. log(tanx) + c

C. log|log(tanx)| + c

D. log
logtanx

tanx
+ c

Answer: C

| |

https://dl.doubtnut.com/l/_HutiYj9VhNys
https://dl.doubtnut.com/l/_R1kfomvOhIOx


Watch Video Solution

120. ∫secmx ⋅ tanxdx =

A. 
1
m

secmx + c

B. -
1
m

secmx + c

C. 
1

cosmx
+ c

D. none

Answer: A

Watch Video Solution

121. ∫
dx

√sin3xcosx
= g(x) + c ⇒ g(x) =

A. 
-2

√tanx

https://dl.doubtnut.com/l/_R1kfomvOhIOx
https://dl.doubtnut.com/l/_bJjFzSYRCZ2k
https://dl.doubtnut.com/l/_SlP9G23wlaHj


B. 
2

√cotx

C. 
2

√tanx

D. 
-2

√cotx

Answer: A

Watch Video Solution

122. ∫
x3

1 + x4dx =

A. 
1
4

log 1 - x4
∣ + c

B. 
1
2

log 1 + x4 + c

C. 
1
4

log 1 + x4 + c

D. none

Answer: C

Watch Video Solution

(
| |
| |

https://dl.doubtnut.com/l/_SlP9G23wlaHj
https://dl.doubtnut.com/l/_jJ7cgdOLcX3g


123. ∫
x - 2

x2 - 4x + 5
dx =

A. 
1
2

log x2 - 4x - 5 + c

B. 
1
4

log x2 - 4x + 5 + c

C. 
1
2

log x2 + 4x + 5 + c

D. 
1
2

log x2 - 4x + 5 + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

124. ∫
dx

x(1 + logx)3 =

A. 
-1

2(1 + logx)2 + c

B. 
1

2(1 + logx)2 + c

C. 
1

1 + logx + c

https://dl.doubtnut.com/l/_jJ7cgdOLcX3g
https://dl.doubtnut.com/l/_da4ZtH4J8o74
https://dl.doubtnut.com/l/_Vs11BB6Yg0jY


D. 
-1

3(1 + logx)3 + c

Answer: A

Watch Video Solution

125. ∫
1 + logx
1 + xlogx

dx =

A. log|1 + xlogx| + c

B. log|xlogx| + c

C. log|1 + logx| + c

D. 1 + xlogx + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Vs11BB6Yg0jY
https://dl.doubtnut.com/l/_6qy3DYprd3Ca


126. Evaluate the integerals. 

∫
1

xlogx[logg(logx)]
dxon(1, ∞)

A. log|log(logx)| + c

B. log|logsinx| + c

C. 1/ logsinx + c

D. none

Answer: A

Watch Video Solution

127. ∫
1

log xx (log x + 1)
 dx =

A. log|logx + 1| + c

B. log
logx + 1

logx
+ c

( )

| |

https://dl.doubtnut.com/l/_7JzLqKYybJ5R
https://dl.doubtnut.com/l/_NYkeTsMkWt2J


C. log
logx

logx + 1
+ c

D. none

Answer: C

Watch Video Solution

| |

128. ∫
3cos3x - 2sin2x
cos2x + sin3x

dx =

A. - log|cos2x - sin3x| + c

B. log|cos2x - sin3x| + c

C. log|cos2x + sin3x| + c

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NYkeTsMkWt2J
https://dl.doubtnut.com/l/_cCxSK2Aj2uCg
https://dl.doubtnut.com/l/_pXTsq695FmRG


129. ∫
cotx

log(sinx)dx =

A. log|log(sinx)| + c

B. log(sinx) + c

C. log|log(cosx)| + c

D. none

Answer: A

Watch Video Solution

130. ∫
1 - tanx
1 + tanx

dx =

A. log|cosx - sinx| + c

B. log|cosx + sinx| + c

C. - log|(cosx)| + c

D. none

https://dl.doubtnut.com/l/_pXTsq695FmRG
https://dl.doubtnut.com/l/_mRXMQfwGZrBd


Answer: B

Watch Video Solution

131. ∫
1

1 + x2 tan - 1x
dx =

A. log cot - 1x + c

B. log tan - 1x + c

C. log cos - 1x + c

D. none

Answer: B

Watch Video Solution

( )

| |
| |
| |

132. ∫
sec2x

3 + 4tanx
dx =

https://dl.doubtnut.com/l/_mRXMQfwGZrBd
https://dl.doubtnut.com/l/_XJH8hJ6SI22z
https://dl.doubtnut.com/l/_xZbkDUNPXEo4


A. 
1
2

log|2 + 4tanx| + c

B. 
1
4

log|3 + 4tanx| + c

C. 
1
4

log|3 - 4tanx| + c

D. 
1
4

log|2 + 3tanx| + c

Answer: B

Watch Video Solution

133. ∫secxcosecxdx =

A. log|tanx| + c

B. - log|tanx| + c

C. log|sinx| + c

D. none

Answer: A

https://dl.doubtnut.com/l/_xZbkDUNPXEo4
https://dl.doubtnut.com/l/_wwlCgosorZC1


Watch Video Solution

134. ∫
-asinx + bcosx
bsinx + acosx

dx =

A. log|b + atanx| + c

B. 
1

a + b
log|acosx + bsinx| + c

C. log|bcosx - asinx| + c

D. log|acosx + bsinx| + c

Answer: D

Watch Video Solution

135. ∫
f′ (x)

f(x)logf(x)dx =

A. 
f(x)

logf(x) + c

B. f(x) ⋅ logf(x) + c

https://dl.doubtnut.com/l/_wwlCgosorZC1
https://dl.doubtnut.com/l/_pJfXlbiyAYL6
https://dl.doubtnut.com/l/_7OxtHUDwyhyX


C. log|logf(x)| + c

D. none

Answer: C

Watch Video Solution

136. ∫
cosx

sinxlogsinx
dx =

A. log|sinxlogsinx| + c

B. log|logsinx| + c

C. 1/ logsinx + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7OxtHUDwyhyX
https://dl.doubtnut.com/l/_SzhiAiki2YKg
https://dl.doubtnut.com/l/_wdrQfmfhDHQP


137. ∫x - 2 / 3 1 + x1 / 2 - 5 / 3dx =

A. 3 1 + x - 1 / 2 - 1 / 3 + c

B. 3 1 + x - 1 / 2 - 2 / 3 + c

C. 3 1 + x - 1 / 2 - 2 / 3
+ c

D. none

Answer: B

Watch Video Solution

( )

( )
( )

( ( ) )

138. ∫
1

√x + x
dx =

A. log x + √x + c

B. log 1 + √x + c

C. 2log x + √x + c

( )

( )

( )

https://dl.doubtnut.com/l/_wdrQfmfhDHQP
https://dl.doubtnut.com/l/_xay7LOr742lf


D. 2log 1 + √x + c

Answer: D

Watch Video Solution

( )

139. ∫
1

secx + tanx
dx =

A. - log|1 + sinx| + c

B. log|1 + sinx| + c

C. log|1 - sinx| + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xay7LOr742lf
https://dl.doubtnut.com/l/_5Q0eQA9K3Z2Q


140. ∫
tanx - tanx /2

1 + tanxtanx /2
dx =

A. 2log|secx /2| + c

B. 2log|cosx /2| + c

C. 2log|cosx /2| + c

D. none

Answer: A

Watch Video Solution

141. ∫
1 - tanx /2
1 + tanx /2 dx =

A. 2log|secx /2| + c

B. 2log|cosx /2| + c

C. 2log|sec(π /4 - x /2)| + c

https://dl.doubtnut.com/l/_5ocskIlkokEx
https://dl.doubtnut.com/l/_ugQZQ2F3h1wY


D. 2log|cos(π /4 - x /2)| + c

Answer: D

Watch Video Solution

142. ∫ tan
x
2

+ tan
π
2

-
x
2

dx =

A. 2log ∣ tanx /2)∣+c

B. 2log ∣ sinx /2 + cox /2) ∣ + c

C. log|cotx /2| + c

D. none

Answer: A

Watch Video Solution

[ ( )]

https://dl.doubtnut.com/l/_ugQZQ2F3h1wY
https://dl.doubtnut.com/l/_du5SVIIfCUtZ


143. ∫
f′ (x)

√f(x)
dx =

A. 
1
2 log|f(x)| + c

B. √f(x) + c

C. 2√fx + c

D. none

Answer: C

Watch Video Solution

))

144. ∫
sin5x

√cos5x
dx =

A. 
2
3√cos5x + c

B. -
2
5√cos5x + c

C. 10√cos5x + c

https://dl.doubtnut.com/l/_YSTGlxcyI8y3
https://dl.doubtnut.com/l/_lwUGInk2zjdy


D. none

Answer: B

Watch Video Solution

145. ∫
1

cosx√sinxcosx
dx =

A. √tanx + c

B. 2√tanx + c

C. 2√cotx + c

D. √cosx + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lwUGInk2zjdy
https://dl.doubtnut.com/l/_RaNo3UugQQc6


146. ∫
√cotx

sinxcosx
dx = - f(x) + c ⇒ f(x) =

A. 2√tanx + c

B. 2√cotx + c

C. -2√cotx + c

D. -2√tanx + c

Answer: C

Watch Video Solution

147. ∫
√cotx

sinxcosx dx = - f(x) + c ⇒ f(x) =

A. 2√tanx

B. -2√tanx

C. -2√cotx

https://dl.doubtnut.com/l/_zojHXBVDpqob
https://dl.doubtnut.com/l/_jpOuYFe5ZWyR


D. 2√cotx

Answer: D

Watch Video Solution

148. ∫
ex - e - x

ex + e - xdx =

A. log ex + e - x + c

B. log ex - e - x + c

C. - log ex - e - x + c

D. none

Answer: A

Watch Video Solution

| |
| |
| |

https://dl.doubtnut.com/l/_jpOuYFe5ZWyR
https://dl.doubtnut.com/l/_XkCZVBZzAgTq


149. Evaluate the integerals. 

∫
dx

1 + ex
, x ∈ R

A. - log 1 + e - x + c

B. log 1 + e - x + c

C. log 1 + ex + c

D. none

Answer: A

Watch Video Solution

| |
| |
| |

150. ∫
ex

ex / 2 - 1
dx =

A. 2 ex / 2 - 1 - log ∣ ex / 2 + 1 + c

B. 2 ex / 2 + 1 + log ex / 2 + 1 + c

C. 2 ex / 2 + 1 - log ex / 2 + 1 + c

[ ]
[ | |]
[ | |]

https://dl.doubtnut.com/l/_qJLO8bTFRNgn
https://dl.doubtnut.com/l/_ixHtRItxvT0m


D. 2 ex / 2 - 1 + log ex / 2 - 1 + c

Answer: D

Watch Video Solution

[ | |]

151. If ∫
ex - 1

ex + 1
dx = f(x) + c, then f(x) =

A. 2log ex + 1

B. log e2x - 1

C. 2log ex + 1 - x

D. log e2x + 1

Answer: C

Watch Video Solution

( )
( )
( )

( )

https://dl.doubtnut.com/l/_ixHtRItxvT0m
https://dl.doubtnut.com/l/_Z42rOIvh4XvO


152. The integral ∫ 1 + x -
1
x

ex+ 1 / xdx is equal to

A. (x + 1)ex+ 1 / x + c

B. -xex+ 1 / x + c

C. (x - 1)ex+ 1 / x + c

D. xex+ 1 / x + c

Answer: D

Watch Video Solution

( )

153. ∫
ex + e - x

ex - e - x logsinhx
dx =

A. log|coshx| + c

B. log(logcoshx) + c

C. log(logsinhx) + c

( )

https://dl.doubtnut.com/l/_pNTznOk4Ya1i
https://dl.doubtnut.com/l/_wWvTQudz6Bic


D. none

Answer: C

Watch Video Solution

154. ∫555x
⋅ 55x

⋅ 5xdx =

A. 
55x

(log5)3 + c

B. 55x(log5)3 + c

C. 
555x

(log5)3 + c

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wWvTQudz6Bic
https://dl.doubtnut.com/l/_18TuwxaHj6Q8


155. ∫
x2 - 1 dx

x4 + 3x2 + 1 tan - 1 x2 + 1

x

=

A. 
1
2 logtan - 1 x +

1
x + c

B. 
1
2 logtan - 1 x +

1
x + c

C. logtan - 1 x +
1
x + c

D. tan - 1 x +
1
x + c

Answer: C

Watch Video Solution

( )

( ) ( )
( )
( )

( )
( )

156. ∫
cos2x
cosx

dx =

A. sinx - log|secx - tanx| + c

https://dl.doubtnut.com/l/_H56TYM50b3uI
https://dl.doubtnut.com/l/_KFtxZG0sxVfC


B. 2sinx - log|secx - tanx| + c

C. sinx - log|secx + tanx| + c

D. 2sinx - log|secx + tanx| + c

Answer: D

Watch Video Solution

157. ∫
cos(x - a)

sinx
dx =

A. cosalog|sinx| - xsina + c

B. cosalog|sinx| + xsina + c

C. cosalog|sinx| + xtana + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KFtxZG0sxVfC
https://dl.doubtnut.com/l/_nBGkaUAurUgv


158. If ∫
sinx

sin(x - α)dx = Ax + Blogsin(x - α) + C, then value of (A,B)

A. (sinα, cosα)

B. ( - cosα, sinα)

C. ( - sinα, cosα)

D. (cosα, sinα)

Answer: D

Watch Video Solution

159. ∫
sin(x - a)
sin(x - b)

dx =

A. xcos(b - a) + sin(b - a)log|sin(x - b)| + c

B. xcos(b + a) + sin(b + a)log|sin(x + b)| + c

C. xcos(b - a) + sin(b + a)log|sin(x - b)| + c

https://dl.doubtnut.com/l/_nBGkaUAurUgv
https://dl.doubtnut.com/l/_JAYeWKXXOMbn
https://dl.doubtnut.com/l/_YUYTdzk5oSMc


D. none

Answer: A

Watch Video Solution

160. ∫
sin(x - a)
cos(x - b)

dx =

A. cos(b + a)log|sec(x + b)| + xsin(b - a) + c

B. cos(b - a)log|sec(x - b)| + xsin(b - a) + c

C. cos(b - a)log|sec(x - b)| + xsin(b - a) + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YUYTdzk5oSMc
https://dl.doubtnut.com/l/_2RTT7t1AXWq6


161. ∫
1

sin(x - a)sin(x - b)
dx =

A. 
1

sin(b - a)
log

sin(x + b)
sin(x + a)

+ c

B. 
1

sin(b + a)
log

sin(x - b)
sin(x - a)

+ c

C. 
1

sin(b - a)
log

sin(x - b)
sin(x - a)

+ c

D. none

Answer: C

Watch Video Solution

| |
| |
| |

162. ∫
dx

cos(x + 4)cos(x + 2) =

A. 
1

sin log ∣ cos(x + 4)2
∣ + c

B. 
1
2 log

sin(x + 2)
sin(x + 2) + c

C. 
1

sin2 log
sec(x + 4)
sin(x + 2) + c

| |
| |

https://dl.doubtnut.com/l/_7y50KnVJxwTb
https://dl.doubtnut.com/l/_UyycLNjz6A2v


D. log
sin(x + 4)
sin(x + 2)

+ c

Answer: C

Watch Video Solution

| |

163. ∫
√sin(x + α)

sin(x - α)
dx =

A. sin ⋅ cosh - 1 sinx
sinα

- cosα ⋅ sin - 1 cosx
cosα

+ c

B. sin ⋅ cosh - 1 sinx
sinα

- tanα ⋅ sin - 1 cosx
cosα

+ c

C. sin ⋅ cosh - 1 sinx
sinα

+ cosα ⋅ sin - 1 cosx
cosα

+ c

D. none

Answer: A

Watch Video Solution

[ ]
( ) ( )
( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_UyycLNjz6A2v
https://dl.doubtnut.com/l/_r0Tu9jYVW4lu
https://dl.doubtnut.com/l/_R7bvzzOAllGP


EXERCISE 1B

164. ∫
f(x)g′ (x) - f′ (x)g(x)

f(x)g(x)
[log(g(x)) - log(f(x))]dx =

A. log
g(x)
f(x)

+ C

B. 
1
2

log
g(x)
f(x)

2
+ C

C. 
g(x)
f(x)

log
logg(x)
f(x)

+ c

D. log
g(x)
f(x)

-
g(x)
f(x)

+ C

Answer: B

Watch Video Solution

( )
[ ( )]

( )
[ ]

1. ∫
3dx

2x2 - x - 1
=

A. log
x - 1
x + 1

+ c| |

https://dl.doubtnut.com/l/_R7bvzzOAllGP
https://dl.doubtnut.com/l/_PGZor1mpXWRU


B. log
x + 1
x + 1

+ c

C. log
x - 1

2x - 1
+ c

D. log
x - 1

2x + 1
+ c

Answer: D

Watch Video Solution

| |
| |
| |

2. ∫
1

x2 - 3x + 2
dx =

A. log
x - 1
x - 2 + c

B. log
x - 2
x - 1 + c

C. log
x + 2
x + 1 + c

D. none

Answer: B

| |
| |
| |

https://dl.doubtnut.com/l/_PGZor1mpXWRU
https://dl.doubtnut.com/l/_PBWIBP45mEUl


Watch Video Solution

3. ∫
2x + 3

(2x + 1)(1 - 3x)
dx =

A. 
2
5

log|2x + 1| -
11
15

log|1 - 3x| + c

B. 
2
5

log|2x + 1| -
11
15

log|1 + 3x| + c

C. 
2
3

log|2x - 1| +
11
15

log|1 - 3x| + c

D. 
2
5

log|2x + 1| -
21
5

log|1 + 3x| + c

Answer: A

Watch Video Solution

4. ∫
2x + 1

x2(x + 1)
dx =

A. xlog
x

x + 1
-

1
x

+ c| |

https://dl.doubtnut.com/l/_PBWIBP45mEUl
https://dl.doubtnut.com/l/_TaRRVwCv87tx
https://dl.doubtnut.com/l/_99WQ39NutbeR


B. log
x

2x + 1
-

1
x

+ c

C. log
x

x + 1
-

1
x

+ c

D. log
x

x - 1
+

1
x

+ c

Answer: C

Watch Video Solution

| |
| |
| |

5. ∫
1

x2(x + 1)
dx =

A. log
x + 1
x +

1
x + c

B. log
x - 1
x +

1
x + c

C. log
x - 1
x -

1
x + c

D. log
x + 1
x -

1
x + c

Answer: D

| |
| |
| |
| |

https://dl.doubtnut.com/l/_99WQ39NutbeR
https://dl.doubtnut.com/l/_sqTGisNjtwDM


Watch Video Solution

6. ∫
3x + 1

(x - 1)2(x + 3)
dx =

A. log
x - 1
x + 3 -

1
x - 1 + c

B. 
1
2 log

x - 1
x + 3 -

1
x - 1 + c

C. 
1
2 log

x - 1
x + 3 +

1
x - 1 + c

D. none

Answer: B

Watch Video Solution

| |
| |
| |

7. If ∫
dx

x - x3 = Alog
x2

1 - x2 + c then A=

A. 2

| |

https://dl.doubtnut.com/l/_sqTGisNjtwDM
https://dl.doubtnut.com/l/_NhsbBTmY1C6J
https://dl.doubtnut.com/l/_WV3C59pW62mj


B. 1/2

C. 2/3

D. 1/3

Answer: B

Watch Video Solution

8. ∫
1

(x - 2) x2 + 1
dx =

A. 
1
5 log|x + 2| -

1
2 log x2 + 1 + 2tan - 1x + c

B. 
1
5 log|x - 2| -

1
2 log x2 + 1 - 2tan - 1x + c

C. 
1
2 log|x - 2| +

1
2 log x2 - 1 - 2tan - 1x + c

D. none

Answer: B

( )

[ ( ) ]
[ ( ) ]
[ ( ) ]

https://dl.doubtnut.com/l/_WV3C59pW62mj
https://dl.doubtnut.com/l/_xtan01WGk4fU


Watch Video Solution

9. ∫
1

x x8 - 1
dx =

A. 
1
4

log
x8 - 1

x8 + c

B. 
1
8

log
x8 - 1

x8 + c

C. 
1
8

log
x8 + 1

x8 + c

D. none

Answer: B

Watch Video Solution

( )

| |
| |
| |

10. ∫
1

x2 - 1 x2 + 2
dx =

( )( )

https://dl.doubtnut.com/l/_xtan01WGk4fU
https://dl.doubtnut.com/l/_D0kZcGQ5iUIa
https://dl.doubtnut.com/l/_D9RmrRk90b9e


A. 
1
3

1
2

log
x + 1
x - 1

- tan - 1 x

√2
+ c

B. 
1
3

1
2

log
x - 1
x + 1

+
1

√2
tan - 1 x

√2
+ c

C. 
1
3

1
2

log
x - 1
x + 1

-
1

√2
tan - 1 x

√2
+ c

D. 
1
3

1
3

log
x - 1
x + 1

-
1

2√2
tan - 1 x

√2
+ c

Answer: C

Watch Video Solution

[ | | ]
[ | | ]
[ | | ]
[ | | ]

11. ∫
1

x2 + a2 x2 + b2
dx =

A. 
1

b2 + a2
1
2 tan - 1 x

a -
1
b tan - 1 x

b + c

B. 
1

b2 - a2
1
a tan - 1 x

a +
1
b tan - 1 x

b + c

C. 
1

b2 - a2
1
a tan - 1 x

a -
1
b tan - 1 x

b + c

( )( )

[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_D9RmrRk90b9e
https://dl.doubtnut.com/l/_u5JuF5i6Nrta


D. none

Answer: B

Watch Video Solution

12. ∫
x2 - 1

x2 + 1 x2 + 2 x2 + 3
dx =

A. tan - 1x +
3

√2
tan - 1 x

√2
-

2

√3
tan - 1 x

√3
+ c

B. - tan - 1x +
3

√2
tan - 1 x

√2
-

2

√3
tan - 1 x

√3
+ c

C. tan - 1x -
3

√2
tan - 1 x

√2
-

2

√3
tan - 1 x

√3
+ c

D. none

Answer: A

View Text Solution

( )( )( )

( ) ( )
( ) ( )

( ) ( )

https://dl.doubtnut.com/l/_u5JuF5i6Nrta
https://dl.doubtnut.com/l/_uJKTs8vGdjDM


13. ∫
1

a4 - x4dx =

A. 
1

4a3 log
a + x
a - x + 2tan - 1 x

a + c

B. 
1

2a3 log
a + x
a - x + 2tan - 1 x

a + c

C. 
1

4a3 log
a - x
a + x - 2tan - 1 x

a + c

D. none

Answer: A

Watch Video Solution

[ | | ]
[ | | ]
[ | | ]

14. ∫
ex

ex + 2 ex - 1
dx =

A. 
1
3

log
ex - 1

ex + 1
+ c

B. 
1
3

log
ex - 1

ex + 2
+ c

( ) ( )

| |
| |

https://dl.doubtnut.com/l/_kQqReDiVIVya
https://dl.doubtnut.com/l/_zXSPBIA5OjET


C. 
1
3

log
ex + 1

ex + 2
+ c

D. none

Answer: B

Watch Video Solution

| |

15. ∫
ex

e2x + 2ex + 5
dx =

A. 
1
2

tan - 1 ex - 1
2

+ c

B. 
1
2

tan - 1 ex + 1
2

+ c

C. 
1
2

tanh - 1 ex + 1
2

+ c

D. none

Answer: B

( )
( )
( )

https://dl.doubtnut.com/l/_zXSPBIA5OjET
https://dl.doubtnut.com/l/_Jr1Ma5w66JMK


Watch Video Solution

16. ∫
1

ex + 2e - x - 3
dx =

A. log
ex + 2

ex + 1
+ c

B. log
ex - 2

ex + 1
+ c

C. log
ex - 2

ex - 1
+ c

D. none

Answer: C

Watch Video Solution

| |
| |
| |

17. ∫
dx

x(logx - 2)(logx - 3)
= I + c ⇒ I =

A. 
1
x

log
logx - 3
logx - 2| |

https://dl.doubtnut.com/l/_Jr1Ma5w66JMK
https://dl.doubtnut.com/l/_UN2a8qiJp1UA
https://dl.doubtnut.com/l/_Kzz4NNdENtLt


B. log
logx - 3
logx - 2

C. log
logx - 2
logx - 3

D. log ∣ (log(x - 3)(logx - 2)∣

Answer: B

Watch Video Solution

| |
| |

18. ∫
sinx

cosx(1 + cosx)
dx = f(x) + c ⇒ f(x) =

A. log
1 + cosx

cosx

B. log
1 + cosx
1 + cosx

C. log
sinx

1 + sinx

D. log
1 + sinx

sinx

Answer: A

| |
| |
| |
| |

https://dl.doubtnut.com/l/_Kzz4NNdENtLt
https://dl.doubtnut.com/l/_8QSpC5dZlwqC


Watch Video Solution

19. ∫
x2

x6 + 2x3 + 2
dx =

A. tan - 1 x3 + 1 + c

B. 
1
3

tan - 1 x3 - 1 + c

C. 
1
3

tanh - 1 x3 - 1 + c

D. 
1
3

tan - 1 x3 + 1 + c

Answer: D

Watch Video Solution

( )
( )
( )

( )

20. ∫
cosx

2sin2x - 3sinx + 4
dx =

A. 
2

√23
tan - 1 4sinx - 3

√23
+ c( )

https://dl.doubtnut.com/l/_8QSpC5dZlwqC
https://dl.doubtnut.com/l/_VJacYARY0wPW
https://dl.doubtnut.com/l/_XU7vEv3Xoo3M


B. 
2

√23
tan - 1 4sinx + 3

√23
+ c

C. 
2

√24
tan - 1 4sinx - 3

√24
+ c

D. none

Answer: A

Watch Video Solution

( )
( )

21. ∫
cotx

1 + sin2x
dx =

A. log
sinx

√1 + sin2x
+ c

B. log
cosx

√1 + sin2x
+ c

C. log
sinx

√1 - sin2x
+ c

D. none

| |
| |
| |

https://dl.doubtnut.com/l/_XU7vEv3Xoo3M
https://dl.doubtnut.com/l/_zv7VySflSudO


Answer: A

Watch Video Solution

22. ∫
tanx

1 + cosx
dx =

A. - log
cosx

1 + cosx
+ c

B. log
1 + cosx

cosx
+ c

C. log
1 - cosx

cosx
+ c

D. none

Answer: B

Watch Video Solution

| |
| |
| |

23. ∫
tanx

1 + cosx dx =

https://dl.doubtnut.com/l/_zv7VySflSudO
https://dl.doubtnut.com/l/_2kcPm77Ln9Pg
https://dl.doubtnut.com/l/_QeKoz9F4Qzvk


A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

24. If ∫
x2 - a2

x2 + a2 dx = x + ktan - 1 x
a

+ c then k=

A. 2a2

B. a2

C. -2a

D. 2a

Answer: c

https://dl.doubtnut.com/l/_QeKoz9F4Qzvk
https://dl.doubtnut.com/l/_bicjy6c5lH3w


Watch Video Solution

25. ∫
dx

x√1 - x3
=

A. 
1
3

log
√1 - x3 - 1

√1 - x3 + 1
+ c

B. 
2
3

log
√1 - x3 - 1

√1 - x3 + 1
+ c

C. 
2
3 log 1 - x3 c

D. 
2
3

log
1

√1 - x3
+ c

Answer: A

Watch Video Solution

[ ]
[ ]
| |

( )

26. If ∫
2x2 + a2

x2 x2 + a2
dx =

k
x

+
1
a

tan - 1 x
a

+ c Then k=

( )

https://dl.doubtnut.com/l/_bicjy6c5lH3w
https://dl.doubtnut.com/l/_VhKyU6qqiBIn
https://dl.doubtnut.com/l/_WRHPAOvKAnYy


A. 0

B. -1

C. 1

D. 1/a

Answer: B

Watch Video Solution

27. ∫
1

ex - 1 2
dx =

A. log
ex

ex - 1
-

1

ex - 1
+ c

B. log
ex

ex - 1
+

1

ex + 1
+ c

C. log
ex

ex - 1
-

1

ex + 1
+ c

( )

( )
( )
( )

https://dl.doubtnut.com/l/_WRHPAOvKAnYy
https://dl.doubtnut.com/l/_4mCrFlNun6NW


D. log
ex

ex + 1
+

1

ex + 1
+ c

Answer: A

Watch Video Solution

( )

28. Evaluate the integerals. 

∫
dx

ex + e2x

A. log ex + 1 - ex + c

B. log e - x + 1 - e - x + c

C. log e - x + 1 + e - x + c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_4mCrFlNun6NW
https://dl.doubtnut.com/l/_d0OYiVF83Pty
https://dl.doubtnut.com/l/_PKrWczGXRO1Q


29. ∫
cosx + xsinx
x(x - cosx)

dx =

A. log|x(x - cosx)| + c

B. log 1 -
cos(x)

x
+ c

C. log
x

x - cosx
+ c

D. none

Answer: B

Watch Video Solution

| ( ) |
| |

30. ∫
1

sin2x + sin2x
dx =

A. log
tanx

tanx + 2
+ c

B. 
1
2

log
tanx

tanx + 2
+ c

C. 2log
tanx + 2

tanx
+ c

| |
| |
| |

https://dl.doubtnut.com/l/_PKrWczGXRO1Q
https://dl.doubtnut.com/l/_UYlvxaqWOKKL


D. none

Answer: B

Watch Video Solution

31. ∫
sinxcos3x

1 + cos2x
dx =

A. 
-1
2

cos2x +
1
2

log 1 + cos2x + c

B. 
1
2

1 + cos2x -
1
2

log 1 + cos2x + c

C. 
1
2

1 + cos2x +
1
2

log 1 + cos2x + c

D. 
-1
2

1 + cos2x -
1
2

log 1 + cos2x + c

Answer: A

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_UYlvxaqWOKKL
https://dl.doubtnut.com/l/_0dATKXJo0Mj7


32. ∫
1

√9x2 - 25
dx =

A. 
1
2cosh - 1 5x

3 + c

B. 
1
3cosh - 1 3x

5 + c

C. 
1
2cosh - 1 3x

5 + c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

33. ∫
1

√4 - 9x2dx =

A. 
1
2

sin - 1 3x
2

+ c

B. 
1
3
Cash - 1 3x

5
+ c

( )
( )

https://dl.doubtnut.com/l/_7HSSjdN3Vt2l
https://dl.doubtnut.com/l/_NL4TV6wcTcSs


C. 
1
3

sin - 1 3x
2

+ c

D. 
2
3

sin - 1 3x
2

+ c

Answer: C

Watch Video Solution

( )
( )

34. ∫
1

√x2 - 4x - 5
dx =

A. cosh - 1 x + 2
3 + c

B. sinh - 1 x - 2
3 + c

C. cosh - 1 x - 2
3 + c

D. none

Answer: C

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_NL4TV6wcTcSs
https://dl.doubtnut.com/l/_X6nIAy6FN2uV


35. ∫
1

√2x2 + 3x + 4
dx=

A. 
1

√2
sinh - 1 4x - 3

√23
+ c

B. 
1

√2
sinh - 1 4x + 3

√23
+ c

C. 
1

√2
cosh - 1 4x + 3

√23
+ c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

36. ∫
1

√3 - x2 + 2x
dx=

A. sin - 1 x - 1
2

+ c( )

https://dl.doubtnut.com/l/_X6nIAy6FN2uV
https://dl.doubtnut.com/l/_Iea1sAJqldDm
https://dl.doubtnut.com/l/_Wz5XnE7EfVLp


B. cosh - 1 x - 1
2

+ c

C. sin - 1 x + 1
2

+ c

D. sinh - 1 x - 1
2

+ c

Answer: A

Watch Video Solution

( )
( )
( )

37. ∫
dx

√x - x2
=

A. 2sin - 1√x + c

B. sin - 1(2x - 1) + c

C. 2xsin - 12x - 1 + c

D. sin - 1√x + c

Answer: A

https://dl.doubtnut.com/l/_Wz5XnE7EfVLp
https://dl.doubtnut.com/l/_GJvKAjORtx2v


Watch Video Solution

38. ∫
1

√5x - 6 - x2
dx =

A. sin - 1(2x + 5) + c

B. sin - 1(2x - 5) + c

C. cosh - 1(2x + 5) + c

D. none

Answer: B

Watch Video Solution

39. ∫
2x + 5

√x2 + 4x - 5
dx =

A. 2√x2 + 4x - 5 - cosh - 1 x + 2
3

+ c( )

https://dl.doubtnut.com/l/_GJvKAjORtx2v
https://dl.doubtnut.com/l/_BWWwukIVtWnz
https://dl.doubtnut.com/l/_HqZYsZc0pi98


B. 2√x2 + 4x - 5 + cosh - 1 x + 2
3

+ c

C. 2√x2 + 4x + 5 + cos - 1 x + 2
3

+ c

D. 2√x2 + 4x - 5 + cos - 1 x - 2
3

+ c

Answer: B

Watch Video Solution

( )
( )
( )

40. ∫
2x + 2

√x2 - 4x - 5
dx =

A. √x2 - 4x - 5 + log x + √x2 - 4x - 5 + c

B. log √x2 - 4x - 5 + √x2 - 4x - 5 + c

C. √x2 - 4x - 5 + 6log ∣ (x - 2) + √x2 - 4x - 5 + c

D. 2√x2 - 4x - 5 + 6log (x - 2) + √x2 - 4x - 5 + c

Answer: D

| |
| |

| |

https://dl.doubtnut.com/l/_HqZYsZc0pi98
https://dl.doubtnut.com/l/_wQJ8xl78as36


Watch Video Solution

41. ∫
2x - 1

√1 - 5x - 6x2
dx =

A. -
1
3√1 + 5x + 6x2 -

11

6√6
sin - 1 12x - 5

7 + c

B. -
1
3√1 - 5x - 6x2 -

11

6√6
sin - 1 12x - 5

7
+ c

C. -
1
3√1 - 5x - 6x2 -

11

6√6
sin - 1 12x + 5

7
+ c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

42. ∫
3x - 4

√2x2 + 4x + 5
dx =

https://dl.doubtnut.com/l/_wQJ8xl78as36
https://dl.doubtnut.com/l/_oLF5aDWCkWJb
https://dl.doubtnut.com/l/_U3LgLRVZQBtT


A. 
3
2√2x2 + 4x + 5 +

7

√2
sinh - 1

√2(x + 1)

√3
- c

B. 
3
2√2x2 - 4x - 5 +

7

√2
sinh - 1

√2(x + 1)

√3
- c

C. 
3
2√2x2 + 4x + 5 -

7

√2
sinh - 1

√2(x - 1)

√3
- c

D. 
3
2√2x2 + 4x + 5 -

7

√2
sinh - 1

√2(x + 1)

√3
- c

Answer: D

Watch Video Solution

( )
( )
( )
( )

43. ∫
ex

√e2x - 3ex + 5
dx =

A. sinh - 1 2ex - 3

√11
+ c

B. sinh - 1 ex - 3

√1
+ c

C. sinh - 1 2ex + 3

√1
+ c

( )
( )
( )

https://dl.doubtnut.com/l/_U3LgLRVZQBtT
https://dl.doubtnut.com/l/_sxz2raJkHVx4


D. none

Answer: A

Watch Video Solution

44. ∫
sec2x

√tan2x - 2tanx + 5
dx =

A. sinh - 1 tanx - 1
3

+ c

B. sinh - 1 tanx - 1
2

+ c

C. sinh - 1 tanx + 1
2

+ c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_sxz2raJkHVx4
https://dl.doubtnut.com/l/_Jkc5bBLvSbk2
https://dl.doubtnut.com/l/_mQcRYconvfGi


45. ∫
x3

√a8 - x8
dx =

A. -
1
4

sin - 1 x4

a4 + c

B. 
1
2

sin - 1 x4

a4 + c

C. 
1
4

sin - 1 x4

a4 + c

D. none

Answer: C

Watch Video Solution

( )
( )
( )

46. Evaluate the integerals. 

∫
5 - x
x - 2

dxon(2, 5)

A. √7x - x2 - 10 -
3
2

sin - 1 2x + 7
3

+ c

√
( )

https://dl.doubtnut.com/l/_mQcRYconvfGi
https://dl.doubtnut.com/l/_XB6t2Gpyua4z


B. √7x + x2 - 10 -
3
2

sin - 1 2x - 7
3

+ c

C. √7x - x2 - 10 +
3
2

sin - 1 2x - 7
3

+ c

D. √7x - x2 - 10 +
3
2

sin - 1 2x + 7
3

+ c

Answer: C

Watch Video Solution

( )
( )
( )

47. ∫
1 + x
1 - x

dx =

A. sin - 1x + √1 + x2 + c

B. sin - 1x + √1 - x2 + c

C. - sin - 1x - √1 - x2 + c

D. sin - 1x - √1 - x2 + c

Answer: D

[√ ]

https://dl.doubtnut.com/l/_XB6t2Gpyua4z
https://dl.doubtnut.com/l/_kJAl4mdU90PJ


Watch Video Solution

48. ∫
2 + x
2 - x

dx =

A. 2sin - 1 x
2

+ √4 - x2 + c

B. 2cos - 1 x
2

- √4 - x2 + c

C. 2sin - 1 x
2

- √4 - x2 + c

D. 2sin - 1 x
2

- √4 - x2 + c

Answer: D

Watch Video Solution

(√ )
( )
( )
( )
( )

49. If ∫
2x

√1 - 4x
dx = Ksin - 1 2x + c, then K=

A. log2

( )

https://dl.doubtnut.com/l/_kJAl4mdU90PJ
https://dl.doubtnut.com/l/_EFFCxR0PZeK0
https://dl.doubtnut.com/l/_pd8kKEICrHE9


B. 
1
2

log2

C. 
1
2

D. 
1

log2

Answer: D

Watch Video Solution

50. ∫
1

2x2 - 3
dx =

A. 
1

√6
log

√2x - √3

√2x + √3
+ c

B. 
1

2√3
log

√2x - √3

√2x + √3
+ c

C. 
1

2√6
log

√2x + √3

√2x + √3
+ c

D. none

Answer: B

| |
| |
| |

https://dl.doubtnut.com/l/_pd8kKEICrHE9
https://dl.doubtnut.com/l/_94ICXX54yvBu


Watch Video Solution

51. ∫
1

9x2 + 16
dx =

A. tan - 1 3x
4 + c

B. 
1
12 tan - 1 3x

4 + c

C. 
1
2 tan - 1 3x

4 + c

D. none

Answer: B

Watch Video Solution

( )
( )

( )

52. ∫
e2x

√ex + 1
dx =

A. 
4
7 ex - 1

7 / 4
-

4
3 ex - 1

3 / 4
+ c( ) ( )

https://dl.doubtnut.com/l/_94ICXX54yvBu
https://dl.doubtnut.com/l/_I8KPmrD6azQP
https://dl.doubtnut.com/l/_sdom2cfjdvk9


B. 
4
7

ex + 1 7 / 4 +
4
3

ex + 1 3 / 4 + c

C. 
4
7

ex + 1 7 / 4 -
2
3

ex + 1 3 / 4 + c

D. 
4
7

ex + 1 7 / 4 -
4
3

ex + 1 3 / 4 + c

Answer: D

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )

53. ∫
1

x2 + 6x + 10
dx =

A. tan - 1(x + 3) + c

B. tan - 1(x - 3) + c

C. sinh - 1(x - 3) + c

D. none

Answer: A

W t h Vid S l ti

)

https://dl.doubtnut.com/l/_sdom2cfjdvk9
https://dl.doubtnut.com/l/_NgdLtHC439aC


Watch Video Solution

54. ∫
dx

x2 + 2x + 2
= f(x) + c ⇒ f(x) =

A. tan - 1(x + 1) + c

B. 2tan - 1(x + 1) + c

C. - tan - 1(x + 1) + c

D. 3tan - 1(x + 1) + c

Answer: A

Watch Video Solution

55. ∫
1

2x2 + 3x - 5
dx =

A. 
1
5

log
2x - 2
2x + 5

+ c

B. 
1
7

log
2x - 2
2x + 5

+ c

| |
| |

https://dl.doubtnut.com/l/_NgdLtHC439aC
https://dl.doubtnut.com/l/_urhJvlPE9Vgi
https://dl.doubtnut.com/l/_1cDi6pa0Sjxj


C. 
1
7

log
2x - 2
2x - 5

+ c

D. none

Answer: B

Watch Video Solution

| |

56. ∫
1

6x - 7 - x2 dx =

A. 
1

√2
log

√2 + x - 3

√2 - x + 3
+ c

B. 
1

2√2
log

√2 + x + 3

√2 - x + 3
+ c

C. 
1

2√2
log

√2 + x - 3

√2 - x + 3
+ c

D. 
1

√2
log

√2 + x + 3

√2 - x + 3
+ c

Answer: C

Watch Video Solution

| |
| |
| |

| |

https://dl.doubtnut.com/l/_1cDi6pa0Sjxj
https://dl.doubtnut.com/l/_1nBAuv7Dc0Po


57. ∫
3x + 4

x2 + 2x + 3
dx =

A. 
3
2 log x2 + 2x + 3 +

1

√2
tan - 1 x + 1

√2
+ c

B. 
3
2 log x2 - 2x - 3 +

1

√2
tan - 1 x + 1

√2
+ c

C. 
3
2 log x2 + 2x + 3 -

1

√2
tan - 1 x - 1

√2
+ c

D. none

Answer: A

Watch Video Solution

| | ( )
| | ( )
| | ( )

58. If ∫
x + 5

x2 + 4x + 5
dx = alog x2 + 4x + 5 + btan - 1(x + k) constant

then (a,b,k)=

) ( )

https://dl.doubtnut.com/l/_1nBAuv7Dc0Po
https://dl.doubtnut.com/l/_iL5pN6nunfKl
https://dl.doubtnut.com/l/_wDOyXFCMWP0O


A. 
1
2

, 3, 2

B. 
1
2

1, 2

C. 
1
2

3, 1

D. (1, 3, 2)

Answer: A

Watch Video Solution

( )
( )
( )

59. Evaluate the integerals. 

∫√ex - 4dxon loge4, ∞ .

A. tan - 1
√ex - 4

2 + √ex - 4 + c

B. 2√ex - 4 - 4tan - 1
√ex - 4

2 + c

[ ]

( )
( )

https://dl.doubtnut.com/l/_wDOyXFCMWP0O
https://dl.doubtnut.com/l/_D6cq9mB5Rpvp


C. 2√ex - 4 - 4cos - 1
√ex - 4

2 + c

D. √ex - 4 - 4tan - 1 √ex - 4 + c

Answer: B

Watch Video Solution

( )
( )

60. ∫
x + 4

6x - 7 - x2 dx =

A. 
1
2

log 6x - 7 - x2 -
7

2√2
log

x + 3 - √2

x - 3 + √2
+ c

B. -
1
2

log 6x + 7 + x2 +
7

2√2
log

x - 3 - √2

x - 3 + √2
+ c

C. -
1
2

log 6x - 7 - x2 -
7

2√2
log

x - 3 - √2

x - 3 + √2
+ c

D. none

Answer: C

W t h Vid S l ti

| | | |
| | | |
| | | |

https://dl.doubtnut.com/l/_D6cq9mB5Rpvp
https://dl.doubtnut.com/l/_e1GjdSe0i0uK


Watch Video Solution

61. ∫√x2 + 4dx =

A. 
x
2√x2 + 4 + 2sinh - 1 x

2
+ c

B. 
x
2√x2 + 4 + 2sinh - 1 x

4
+ c

C. 
x
2√x2 + 4 - 2sinh - 1 x

2
+ c

D. 
x
2√x2 + 4 - 2sinh - 1 x

2
+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

62. ∫√4 - x2dx =

A. 
x
2√4 - x2 - sin - 1 x

2
+ c( )

https://dl.doubtnut.com/l/_e1GjdSe0i0uK
https://dl.doubtnut.com/l/_qRPgy4kjtUoj
https://dl.doubtnut.com/l/_c8PCjg43KHE4


B. 
x
3√4 + x2 + sin - 1 x

2
- c

C. 
x
2√4 - x2 + 2sin - 1 x

2
+ c

D. none

Answer: C

Watch Video Solution

( )
( )

63. ∫√x2 - 25dx =

A. 
x
2√x2 - 25 -

25
2

cosh - 1 x
5

+ c

B. 
x
2√x2 + 25 +

25
2

sinh - 1 x
5

+ c

C. 
x
3√x2 - 25 +

25
2

cosh - 1 x
3

+ c

D. none

Answer: A

( )
( )
( )

https://dl.doubtnut.com/l/_c8PCjg43KHE4
https://dl.doubtnut.com/l/_NvWT91Mz8fqb


Watch Video Solution

64. ∫√1 + x - 2x2dx =

A. 
(4x + 1)

8 √1 + x - 2x2 +
9

16√2
sin - 1 4x + 1

3
+ c

B. 
(4x - 1)

8 √1 + x - 2x2 +
9

16√2
sin - 1 4x - 1

3
+ c

C. 
(4x - 1)

8 √1 + x + 2x2 -
9

6√2
sin - 1 4x - 1

3 + c

D. none

Answer: B

Watch Video Solution

( )
( )

( )

65. ∫√2x2 + 3x + 4dx =

A. 
(4x - 3)

8 √2x2 - 3x - 4 +
23

16√2
sinh - 1 4x + 3

√23
+ c( )

https://dl.doubtnut.com/l/_NvWT91Mz8fqb
https://dl.doubtnut.com/l/_cWOeH0nrP4OM
https://dl.doubtnut.com/l/_OX9eAE3tlndy


B. 
(4x - 3)

8 √2x2 + 3x + 4 +
23

6√2
sinh - 1 4x - 3

√23
+ c

C. 
(4x + 3)

8 √2x2 + 3x + 4 +
23

16√2
sinh - 1 4x + 3

√23
+ c

D. 

Answer: C

Watch Video Solution

( )
( )

66. ∫
1

x + √x2 + 1
= dx

A. 
x
2√x2 + 1 +

1
2

sinh - 1x -
x2

2
+ c

B. 
x
2√x2 + 1 -

1
2

sinh - 1x -
x2

2
+ c

C. 
x
2√x2 - 1 +

1
2

sinh - 1x -
x2

2
+ c

D. none

Answer: A

https://dl.doubtnut.com/l/_OX9eAE3tlndy
https://dl.doubtnut.com/l/_L5CKp4kl9iT3


Watch Video Solution

67. ∫ (3x + 2)√ x2 + 2x + 5 dx =

A. x2 + 2x + 5 3 / 2 -
(x - 1)

2 √x2 + 2x + 5 - 2sinh - 1 x + 1
2

+ c

B. x2 + 2x + 5 3 / 2 -
(x - 1)

2 √x2 + 2x + 5 - 2sinh - 1 x + 1
2

+ c

C. x2 - 2x + 5 3 / 2 -
(x - 1)

2 √x2 + 2x + 5 - 2sinh - 1 x + 1
2

+ c

D. x2 + 2x + 5 3 / 2 -
(x - 1)

2 √x2 - 2x - 5 - 2sinh - 1 x + 1
2

+ c

Answer: B

Watch Video Solution

( )

( ) ( )
( ) ( )
( ) ( )
( ) ( )

68. ∫ (2 - 3x)√x2 - 4x - 5dx =

A. x2 + 4x + 5 3 / 2 + 2(x - 2)√x2 - 4x - 5 - 18cosh - 1 x - 2
3

+ c( ) ( )

https://dl.doubtnut.com/l/_L5CKp4kl9iT3
https://dl.doubtnut.com/l/_qsf6azYpaow1
https://dl.doubtnut.com/l/_sQsBYQ6DxmvX


B. - x2 - 4x - 5 3 / 2 - 2(x - 2)√x2 - 4x - 5 + 18cosh - 1 x - 2
3

+ c

C. - x2 - 4x - 5 3 / 2 + 2(x + 2)√x2 + 4x + 5 + 18cosh - 1 x - 2
3

+ c

D. none

Answer: B

Watch Video Solution

( ) ( )
( ) ( )

69. ∫
dx

(x - 1)√x2 - 1
=

A. -
√x - 1

x + 1
+ C

B. 
√x - 1

x2 + 1
+ C

C. -
√x + 1

x - 1
+ C

D. 
√x2 + 1

x - 1
+ C

Answer: C

https://dl.doubtnut.com/l/_sQsBYQ6DxmvX
https://dl.doubtnut.com/l/_MxTk3gCj6NJ0


Watch Video Solution

70. ∫
1

(x + 1)√x2 + x + 2dx =

A. 
1

√2
cosh - 1 3 - x

√7(x + 1)
+ c

B. -
1

√2
cosh - 1 3 - x

√7(x + 1)
+ c

C. -
1

√2
cosh - 1 3 + x

√7(x - 1)
+ c

D. -
1

√2
cosh - 1 3 - x

√7(x - 1)
+ c

Answer: B

View Text Solution

( )
( )
( )
( )

71. ∫
1

(2x + 1)√x2 - x - 2
dx =

https://dl.doubtnut.com/l/_MxTk3gCj6NJ0
https://dl.doubtnut.com/l/_E8hmZ9ZdDKwf
https://dl.doubtnut.com/l/_jqvWz7sqjsdn


A. -
1

√5
sin - 1 4x + 7

6x + 3
+ c

B. -
1

√3
sin - 1 4x + 7

6x + 3
+ c

C. -
1

√5
sin - 1 4x - 7

6x - 3 + c

D. none

Answer: A

Watch Video Solution

( )
( )
( )

72. ∫
1

x2√1 + x2
dx =

A. -
√1 + x2

x
+ c

B. 
√1 + x2

x + c

C. -
√1 - x2

x
+ c

D. none

https://dl.doubtnut.com/l/_jqvWz7sqjsdn
https://dl.doubtnut.com/l/_Q2I6yU6g6gOQ


Answer: A

Watch Video Solution

73. ∫
1

x2 + 9 √x2 - 9
dx =

A. 
1

8√2
log

√2 - x - √x2 - 9

√2x - √x2 - 9
+ c

B. 
1

18√2
log

√2 + x - √x2 - 9

√2x - √x2 - 9
+ c

C. 
1

18√2
log

√2 + x - √x2 + 9

√2x - √x2 - 9
- c

D. none

Answer: B

Watch Video Solution

( )

| |
| |
| |

https://dl.doubtnut.com/l/_Q2I6yU6g6gOQ
https://dl.doubtnut.com/l/_aUFXP8vTBQ4X
https://dl.doubtnut.com/l/_6py8XrZOwAiM


74. ∫
1

1 + x2 √1 - x2
dx =

A. -
1

√2
tanh - 1

√1 + x2

√2x
+ c

B. 
1

√2
tanh - 1

√1 + x2

√2x
+ c

C. -
1

√2
tanh - 1

√1 - x2

√2x
+ c

D. none

Answer: C

Watch Video Solution

( )

( )
( )
( )

75. ∫
2x + 3

√3 - x
dx =

A. -18√3 - x -
4
3

(3 - x)3 / 2 + c

B. -18√3 - x +
4
3

(3 - x)3 / 2 + c

https://dl.doubtnut.com/l/_6py8XrZOwAiM
https://dl.doubtnut.com/l/_JTt3u4vx9J8Z


C. 18√3 - x -
4
3

(3 + x)3 / 2 + c

D. -18√3 + x +
4
3

(3 - x)3 / 2 + c

Answer: B

Watch Video Solution

76. ∫
2x + 3

√4x + 3
dx =

A. 
1
12 (4x - 3)3 / 2 +

1
4√4x + 3 + c

B. 
1
12 (4x + 3)3 / 2 +

3
4√4x + 3 + c

C. 
1
12 (4x + 3)3 / 2 +

3
4√4x + 33 / 2 + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JTt3u4vx9J8Z
https://dl.doubtnut.com/l/_8PFlmlMvjFLm
https://dl.doubtnut.com/l/_rTMuZrVAIUW1


77. Evalute the following integrals 

∫ (x + 2)√x + 1 dx

A. 
2
5 (x - 1)3 / 2(3x + 8) + c

B. 
2
15 (x - 1)3 / 2(3x - 8) + c

C. 
2
15 (x + 1)3 / 2(3x + 8) + c

D. 
2
15 (x - 1)3 / 2(3x + 8) + c

Answer: C

Watch Video Solution

78. ∫ (2x + 3)√2 - 3xdx =

A. -
1

135 (2 - 3x)3 / 2(36x - 106) + c

B. 
1
35 (2 + 3x)3 / 2(36x - 106) + c

C. -
1

135 (2 + 3x)3 / 2(36x - 106) + c

https://dl.doubtnut.com/l/_rTMuZrVAIUW1
https://dl.doubtnut.com/l/_SpMHvCbjBa0n


D. -
1

135
(2 - 3x)3 / 2(36x - 106) + c

Answer: D

Watch Video Solution

79. If ∫
dx

√x(x + 9)
= f(x) +  constant, then f(x)=

A. 
2
3 tan - 1√x

B. 
2
3

tan - 1
√x

3

C. tan - 1√x

D. tan - 1
√x

3

Answer: B

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_SpMHvCbjBa0n
https://dl.doubtnut.com/l/_jmMUmaXtXsJk
https://dl.doubtnut.com/l/_6pMbMLMC0NKg


80. ∫
1

(x + 2)√x + 1
dx =

A. 2tan - 1 √x + 1 + c

B. tan - 1 √x - 1 + c

C. 2tanh - 1 √x + 1 + c

D. none

Answer: A

Watch Video Solution

( )

( )

( )

81. ∫
dx

(x + 100)√x + 99
= f(x) + c ⇒ f(x) =

A. 2(x + 100)1 / 2

B. 3(x + 100)1 / 2

C. 2tan - 1 √x + 99

D. 2tan - 1 √x + 100

( )

( )

https://dl.doubtnut.com/l/_6pMbMLMC0NKg
https://dl.doubtnut.com/l/_vs3DDyJJyknF


Answer: C

Watch Video Solution

82. ∫
dx

(x + 1)√4x + 3
=

A. tan - 1√4x + 3 + c

B. 3tan - 1√4x + 3 + c

C. 2tan - 1√4x + 3 + c

D. 4tan - 1√4x + 3 + c

Answer: C

Watch Video Solution

83. ∫
x2 - 1

x4 + 1
dx =

https://dl.doubtnut.com/l/_vs3DDyJJyknF
https://dl.doubtnut.com/l/_iy0Xif05x3DQ
https://dl.doubtnut.com/l/_koHqmnAJWzJv


A. 
1

2√2
log

x2 - √2x + 1

x2 + √2x + 1
+ c

B. 
1

√2
log

x2 - √2x + 1

x2 + √2x + 1
+ c

C. 
1

2√2
log

x2 + √2x + 1

x2 + √2x + 1
+ c

D. 
1

2√2
log

x2 - √2x - 1

x2 - √2x - 1
+ c

Answer: A

Watch Video Solution

| |
| |
| |
| |

84. ∫
x2

x4 + 1
dx =

A. 
1

2√2
tan - 1 x2 + 1

√2x
+

1

4√2
log

x2 - √2x + 1

x2 + √2x + 1
+ c

B. 
1

2√2
tan - 1 x21

√2x
+

1

4√2
log

x2 + √2x + 1

x2 - √2x + 1
+ c

( ) | |
( ) | |

https://dl.doubtnut.com/l/_koHqmnAJWzJv
https://dl.doubtnut.com/l/_mSLBMn6CBeLM


C. 
1

2√2
tan - 1 x21

√2x
+

1

4√2
log

x2 - √2x + 1

x2 + √2x + 1
+ c

D. none

Answer: C

Watch Video Solution

( ) | |

85. ∫
x2 + 1

x4 + x2 + 1
dx =

A. -
1

√3
tan - 1 x2 - 1

√3x
+ c

B. 
1

√3
tan - 1

√3 - x

√3x
+ c

C. 
1

√2
tan - 1 x2 - 1

√3x
+ c

D. 
1

√3
tan - 1 x2 - 1

√3x
+ c

Answer: D

( )
( )
( )
( )

https://dl.doubtnut.com/l/_mSLBMn6CBeLM
https://dl.doubtnut.com/l/_VGdc1suqMlXw


Watch Video Solution

86. ∫
1

x4 + 1
dx =

A. 
1

2√2
tan - 1 x2 + 1

√2x
-

1

4√2
loglog

x2 + √2x + 1

x2 - √2x + 1
+ c

B. 
1

2√2
tan - 1 x2 - 1

√2x
-

1

4√2
log

x2 + √2x + 1

x2 - √2x + 1
+ c

C. 
1

2√2
tan - 1 x2 - 1

√2x
-

1

2√2
log

x2 - √2x + 1

x2 + √2x + 1
+ c

D. none

Answer: B

Watch Video Solution

( ) | |
( ) | |
( ) | |

87. ∫
1

√1 + x4
dx =

https://dl.doubtnut.com/l/_VGdc1suqMlXw
https://dl.doubtnut.com/l/_tnhiuamYptRP
https://dl.doubtnut.com/l/_jtewHJTfUp0D


A. 
1
4

log
x + 1 + x4 1 / 4

x - 1 + x4 1 / 4
-

1
4

tan - 1
1 + x4 1 / 4

x
+ c

B. 
1
4

log
x + 1 + x4 1 / 4

x + 1 + x4 1 / 4
+

1
4

tan - 1
1 + x4 1 / 4

x
+ c

C. 
1
4 log

x + 1 + x4 1 / 4

x + 1 + x4 1 / 4
-

1
2 tan - 1

1 + x4 1 / 4

x + c

D. none

Answer: C

Watch Video Solution

| ( )
( ) | ( )

| ( )
( ) | ( )

| ( )
( ) | ( )

88. ∫
x2 + 1

x4 + x2 + 1
dx =

A. 
1
3 tan - 1 x2 - 1

3x + c

B. tan - 1 x2 - 1
x + c

( )
( )

https://dl.doubtnut.com/l/_jtewHJTfUp0D
https://dl.doubtnut.com/l/_cdNdkkY8BKSX


C. 
1
3

tan - 1 x2 - 1
x

+ c

D. 
1

√3
tan - 1 x2 - 1

√3x
+ c

Answer: A

Watch Video Solution

( )
( )

89. ∫
7x8 + 8x7

1 + x + x8 2
dx = f(x) + c ⇒ f(x) =

A. 
x8

1 + x + x8

B. 28log 1 + x + x8

C. 
1

1 + x + x8

D. 
-1

1 + x + x8

Answer: A

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_cdNdkkY8BKSX
https://dl.doubtnut.com/l/_mwlRYg3Z5MtW


90. ∫
√x2 + 1 log x2 + 1 - 2logx

x4 dx =

A. 
x2 + 1 3 / 2

9x3 2 + 3log 1 +
1

x2 + c

B. 
x2 + 1

3 / 2

9x3 1 - 2log 1 +
1

x2 + c

C. 
x2 + 1 3 / 2

9x3 2 - 3log 1 +
1

x2 + c

D. 
x2 + 1 3 / 2

9x3 2 + 3log 1 -
1

x2 + c

Answer: C

Watch Video Solution

[ ( ) ]

( ) [ ( )]
( ) [ ( )]
( ) [ ( )]
( ) [ ( )]

91. ∫
x2

√a2 - x2
dx =

https://dl.doubtnut.com/l/_mwlRYg3Z5MtW
https://dl.doubtnut.com/l/_jPCHZpSX05JR
https://dl.doubtnut.com/l/_ElDWhNQUF8Fj


A. 
a2

2
sin - 1 x

a
-
x
2√a2 - x2 + c

B. 
a2

2
sin - 1 x

a
-
x
4√a2 - x2 + c

C. 
a2

2 sin - 1 x
a -

x
2√a2 - x2 + c

D. 
a2

2
sin - 1 x

a
+
x
2√a2 - x2 + c

Answer: A

Watch Video Solution

92. ∫
1

9 - x2 3 / 2
dx =

A. 
1
3

x

√9 - x2
+ c

B. 
1
9

x

√9 - x2
+ c

C. 
1
9

x

√9 + x2
+ c

D. none

( )

https://dl.doubtnut.com/l/_ElDWhNQUF8Fj
https://dl.doubtnut.com/l/_ddx7xy3PvVZC


Answer: B

Watch Video Solution

93. ∫
1

4 + x2 5 / 2
dx =

A. 
x

16√4 + x2
-

x2

48 4 + x2 3 / 2
+ c

B. 
x

16√4 + x2
-

x3

48 4 + x2 3 / 2
+ c

C. 
x

16√4 + x2
+

x3

48 4 + x2 3 / 2
+ c

D. 
x

16√4 + x2
-

x3

48 4 - x2 3 / 2
+ c

Answer: A

Watch Video Solution

( )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_ddx7xy3PvVZC
https://dl.doubtnut.com/l/_1nroR2SFzP3f


94. ∫
x2

1 + x2 3 / 2
dx =

A. log x + √1 + x2 -
x

√1 - x2
+ c

B. log x - √1 - x2 -
x

√1 + x2
+ c

C. log x - √1 + x2 -
x

√1 + x2
+ c

D. none

Answer: C

Watch Video Solution

( )

| |
| |
| |

95. ∫
x3

√1 + x2
dx =

A. √1 + x2 -
2
3

1 + x2 3 / 2
+ c

B. x√1 + x2 +
2
3

1 + x2 3 / 2
+ c

( )
( )

https://dl.doubtnut.com/l/_BwptE0BwXVei
https://dl.doubtnut.com/l/_tS3qEfBXO15F


C. 
x2

3 √1 + x2 -
2
3

1 + x2 3 / 2 + c

D. x2 1 + x2 -
1
3

1 + x2 1 / 2 + c

Answer: C

Watch Video Solution

( )
( ) ( )

96. ∫
x3 + 1

√1 - x2
dx =

A. 
1
3

1 - x2 3 / 2
- 3sinh - 1x + c

B. 
1
3

1 - x2 3 / 2 + 3sinh - 1x + c

C. 
1
3

1 + x2 3 / 2
+ 3sinh - 1x + c

D. 
1
3

1 - x2 3 / 2
- 3√1 - x2 - 3sin - 1x + c

Answer: D

Watch Video Solution

[( ) ]
[( ) ]
[( ) ]
[( ) ) ]

https://dl.doubtnut.com/l/_tS3qEfBXO15F
https://dl.doubtnut.com/l/_2zhHiPTTW3rj


97. ∫
x

x2 + 2x + 2
2
dx =

A. 
x2 + 2

x2 + 2x + 2
-

1
2 tan - 1(x + 1) + c

B. 
x2 - 2

2 x2 + 2x + 2
-

1
2

tan - 1(x + 1) + c

C. 
x2 - 2

4 x2 + 2x + 2
-

1
2

tan - 1(x + 1) + c

D. 
2x2 - 2

x2 + 2x + 2
+

1
2

tan - 1(x + 1) + c

Answer: C

Watch Video Solution

( )

( )

( )

( )

98. Evaluate: ∫√secx - 1 dx

A. 2cosh - 1 √2cos(x /2) + c[ ]

https://dl.doubtnut.com/l/_2zhHiPTTW3rj
https://dl.doubtnut.com/l/_wJW48HOjFIMP
https://dl.doubtnut.com/l/_FFT1prWwX75s


B. -2cosh - 1 √2cos(x /3) + c

C. -2cosh - 1 √2cos(x /2) + c

D. none

Answer: C

Watch Video Solution

][ ]

[ ]

99. ∫ √sinx + √cosx - 4dx =

A. 
2

√tanx + 1 2

1

3 √tanx + 1
-

1
2

+ c

B. 
2

√tanx + 1 2

1

3 √tanx + 1
+

1
2 + c

C. 
1

√tanx + 1 2

1

3 √tanx + 1
+

1
2

+ c

D. none

Answer: A

( )

( ) [ ( ) ]
( ) [ ( ) ]
( ) [ ( ) ]

https://dl.doubtnut.com/l/_FFT1prWwX75s
https://dl.doubtnut.com/l/_iIGzRSRYpSGQ


Watch Video Solution

100. ∫x2√x6 - 1dx =

A. 
x
6√x6 - 1 +

1
6

cosh - 1x3 + c

B. 
1
6

x3√x6 - 1 +
1
6

cosh - 1x3 + c

C. -
1
6

cosh - 1x3 + c

D. 
1
6

x3√x6 - 1 - cos - 1x3 + c

Answer: B

Watch Video Solution

( )

( )

101. ∫
1

3 + 4cosx dx =

A. 
1

√7
log

√7 - tan(x /2)

√7 + tan(x /2)
+ c[ ]

https://dl.doubtnut.com/l/_iIGzRSRYpSGQ
https://dl.doubtnut.com/l/_gDHfc5NmV9Um
https://dl.doubtnut.com/l/_U29azwqPQKfG


B. log
√7 + tan(x /2)

√7 - tan(x /2)
+ c

C. 
1

√7
log

√7 + tan(x /2)

√7 - tan(x /2)
+ c

D. none

Answer: C

Watch Video Solution

[ ]
[ ]

102. Evaluate the integerals. 

∫
dx

4 + 5sinx

A. 
1
3

log
2tanx /2 + 1
tanx /2 + 2

+ c

B. 
1
6

log
2tanx /2 + 1
tanx /2 + 4

+ c

C. 
1
3

log
2tanx /2 - 1
tanx /2 - 4

+ c

D. 
1
3

log
2cosx /2 + 1
tanx /2 + 4

+ c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_U29azwqPQKfG
https://dl.doubtnut.com/l/_IxQIIzq6CPZs


Answer: A

Watch Video Solution

103. ∫
dx

4cosx + 3sinx

A. 
1
5

log
1 + 2tanx /2
4 - 2tanx /2

+ c

B. 
2
5

log
1 + 2tanx /2
4 - 2tanx /2

+ c

C. 
1
5

log
1 - 2tanx /2
4 - 2tanx /2

+ c

D. 
1
3

log
1 + 2tanx /2
4 - 2tanx /2

+ c

Answer: A

Watch Video Solution

| |
| |
| |
| |

104. ∫
1

2cosx + 3sinx + 4dx =

https://dl.doubtnut.com/l/_IxQIIzq6CPZs
https://dl.doubtnut.com/l/_3eTS4O4jfjlR
https://dl.doubtnut.com/l/_f292M15lBn20


A. 
1

√3
tan - 1 1

√3
(2tanx /2 + 3) + c

B. 
2

√3
tan - 1 1

√3
(2tanx /2 + 3) + c

C. 
2

√3
tan - 1 1

√3
(2tanx /2 - 3) + c

D. none

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

105. ∫
1

cosx + sinx
dx =

A. 
1

√2
log

√2 - tan(x /2) - 1

√2 - tan(x /2) - 1
+ c

B. 
1

√2
log

√2 - tan(x /2) - 1

√2 - tan(x /2) + 1
+ c

C. 
1

√2
log

√2 + tan(x /2) - 1

√2 - tan(x /2) + 1
+ c

| |
| |
| |

https://dl.doubtnut.com/l/_f292M15lBn20
https://dl.doubtnut.com/l/_2P2vfuCiHnBg


D. none

Answer: C

Watch Video Solution

106. ∫
dx

cosx - sinx
=

A. 
1

√2
log tan

x
2

-
π
8

+ c

B. 
1

√2
log tan

x
2 +

3π
8 + c

C. 
1

√2
log tan

x
2

-
3π
8

+ c

D. 
1

√2
log cot

x
2

+ c

Answer: B

Watch Video Solution

| ( ) |
| ( )|
| ( )|
| ( )|

https://dl.doubtnut.com/l/_2P2vfuCiHnBg
https://dl.doubtnut.com/l/_fm0oLSXQgpTj
https://dl.doubtnut.com/l/_AahphZeT0c7v


107. ∫
dx

cosx + √3sinx
=

A. 
1
2 logtan

x
2 +

π
12 + c

B. 
1
2 logtan

x
2 -

π
12 + c

C. logtan
x
2 +

π
12 + c

D. logtan
x
2 -

π
12 + c

Answer: A

Watch Video Solution

( )
( )

( )
( )

108. ∫
1

1 + sin2x
dx =

A. 
-1

1 + tanx
+ c

B. 
1

1 + tanx
+ c

C. 
-1

1 - tanx
+ c

https://dl.doubtnut.com/l/_AahphZeT0c7v
https://dl.doubtnut.com/l/_V1blVW5JGfGj


D. 
1

1 - tanx
+ c

Answer: A

Watch Video Solution

109. ∫
1

2 + cos2x
= dx

A. 
1

2√3
tan - 1 1

√3
tanx + c

B. 
1

√3
tan - 1 1

√3
tanx + c

C. 
1

√3
tan - 1 1

√2
tanx + c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_V1blVW5JGfGj
https://dl.doubtnut.com/l/_agZfFyG98Nsn
https://dl.doubtnut.com/l/_XTnR1MHzF1dg


110. ∫
1

1 + sin2x dx =

A. 
1

√2
tan - 1 √2tanx + c

B. √2tan - 1 √2tanx + c

C. 
1

√2
tan - 1 √2tanx + c

D. none

Answer: A

Watch Video Solution

( )

( )

( )

( )

111. ∫
1

5 + 4cos2x
dx =

A. 
3

√5
tan - 1

√5

3
tanx + c

B. 
1

3√5
tan - 1

√5

3
cosx + c

( )
( )

https://dl.doubtnut.com/l/_XTnR1MHzF1dg
https://dl.doubtnut.com/l/_0GiV1tu1wfDn


C. 
1

3√5
tan - 1

√5

3
tanx + c

D. none

Answer: C

Watch Video Solution

( )

112. ∫
1

4cos2x + 9sin2x
dx =

A. 
1
6 tan - 1 3

2 tanx + c

B. 
1
3 tan - 1 3

2 tanx + c

C. 
1
6 tan - 1 3

5 tanx + c

D. none

Answer: A

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_0GiV1tu1wfDn
https://dl.doubtnut.com/l/_jWhLcOGTKnr9


113. ∫
1

sin2x + 2sinxcosx + 5cos2x
dx =

A. 
1
2

tan - 1 1
2

(tanx - 1) + c

B. 
1
2

tan - 1 1
2

(tanx + 1) + c

C. 
1
2

tanh - 1 1
2

(tanx + 1) + c

D. none

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

114. ∫
1

1 + cos2x + 2cosxsinx
dx =

A. tan - 1(1 + tanx) + c

B. tan - 1(1 - tanx) + c

https://dl.doubtnut.com/l/_jWhLcOGTKnr9
https://dl.doubtnut.com/l/_WVHyjNDv8eyJ
https://dl.doubtnut.com/l/_kLtASoXhSMqw


C. 2tan - 1(1 + tanx) + c

D. none

Answer: A

Watch Video Solution

115. ∫
1

4sin2x + 3sinxcosx + 2cos2x
dx =

A. 
1

√23
tan - 1 8tanx + 3

√23
+ c

B. 
2

√23
tan - 1 8tanx + 3

√23
+ c

C. 
2

√23
tan - 1 8tanx - 3

√23
+ c

D. none

Answer: B

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_kLtASoXhSMqw
https://dl.doubtnut.com/l/_9oqd5T3NREig


116. ∫
dx

a2sin2x + b2cos2x
=

A. 
1
ab

tan - 1 atanx
b

+ c

B. tan - 1 atanx
b

+ c

C. tan - 1 btanx
b

+ c

D. tan - 1 btanx
a

+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

117. ∫
3cosx + 2sinx
4sinx + 5cosx

dx =

A. 
23x
41

-
2

41
log|4sinx + 5cosx| + c

B. 
2x
41

+
23
41

log|4sinx + 5cosx| + c

https://dl.doubtnut.com/l/_9oqd5T3NREig
https://dl.doubtnut.com/l/_bHQ7IHYMiJ7b
https://dl.doubtnut.com/l/_fdKde7QoMFAR


C. 
23x
41

+
2
41

log|4sinx + 5cosx| + c

D. none

Answer: C

Watch Video Solution

118. ∫
sinx + 8cosx
4sinx + 6cosx

= dx

A. x +
1
2

log(4sinx + 6cosx) + C

B. 2x + log(2sinx + 3cosx) + C

C. x + log(2sinx + 3cosx) + C

D. 
1
2

log(4sinx + 6cosx) + C

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fdKde7QoMFAR
https://dl.doubtnut.com/l/_XPs9hLYuBdF5
https://dl.doubtnut.com/l/_qYx0uG78QnFW


119. ∫
3cosx - 2sinx
4sinx + 5cosxdx =

A. 
22
41 log|5cosx + 4sinx| -

7
41x + c

B. 
22
41 log|5cosx + 4sinx| +

7
41x + c

C. 
22
41 log|5cosx - 4sinx| +

7
41x + c

D. none

Answer: B

Watch Video Solution

120. ∫
sinx

2cosx + 3sinx
dx =

A. 
2
13

log|2cosx + 3sinx| -
3
13

+ c

B. 
2
13

log|2cosx - 3sinx| +
3
13

+ c

C. -
2
13

log|2cosx + 3sinx| +
3

13
+ c

D. none

https://dl.doubtnut.com/l/_qYx0uG78QnFW
https://dl.doubtnut.com/l/_Ox2eBPPTBazj


Answer: C

Watch Video Solution

121. ∫
cosx

3cosx + 4sinx
dx =

A. 
4
25

log|3cosx + 4sinx| -
1
25

x + c

B. 
4
35

log|3cosx - 4sinx| +
2
25

x + c

C. 
4
25

log|3cosx - 4sinx| -
2

25
x + c

D. 
4
25

log|3cosx + 4sinx| +
3

25
x + c

Answer: D

Watch Video Solution

122. Evaluate the integerals. 

∫
1

1 + tanx dx

https://dl.doubtnut.com/l/_Ox2eBPPTBazj
https://dl.doubtnut.com/l/_K11EPV7hHjxE
https://dl.doubtnut.com/l/_BLPc4jGFa8JU


A. 
1
2

log|cosx + sinx| +
1
2
x + c

B. 
1
2

log|cosx + sinx| -
1
2
x + c

C. 
1
2

log|cosx + tanx| +
1
2
x + c

D. none

Answer: A

Watch Video Solution

123. ∫
sinx

sinx - cosx
dx =

A. 
1
2

[x + log|sinx - cosx|] + c

B. 
1
2

log|cosx + sinx| -
1
2
x + c

C. log|sinx - cosx| - x + c

D. none

Answer: A

https://dl.doubtnut.com/l/_BLPc4jGFa8JU
https://dl.doubtnut.com/l/_8EL0NbAgV4mv


Watch Video Solution

124. ∫
cosx

cosx + sinxdx =

A. 
1
2 [x - log|cosx + sinx|] + c

B. 
1
2 [x - log|cosx - sinx|] + c

C. 
1
2 [x + log|cosx + sinx|] + c

D. 
1
2 [x + log|cosx + sinx|] + c

Answer: C

Watch Video Solution

125. ∫
cosx

cosx - sinx
dx =

A. 
1
2

log|cosx - sinx| -
1
2
x + c

B. -
1
2

log|cosx + sinx| +
1
2
x + c

https://dl.doubtnut.com/l/_8EL0NbAgV4mv
https://dl.doubtnut.com/l/_73Vq6a74PKts
https://dl.doubtnut.com/l/_gfQ4ifVTCmj7


C. -
1
2

log|cosx - sinx| +
1
2
x + c

D. none

Answer: C

Watch Video Solution

126. If the integral ∫
5tanx

tanx - 2
dx = x + alog|sinx - 2cosx| + c then a is

equal to

A. 1

B. 2

C. -1

D. -2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gfQ4ifVTCmj7
https://dl.doubtnut.com/l/_vt5XQil7Ji8Q


127. ∫
1

sinx + secxdx =

A. 
1

2√3
log

√3 + sinx - cosx

√3 - sinx + cosx
- tan - 1(sinx + cosx) + c

B. 
1

2√3
log

√3 + sinx - cosx

√3 - sinx + cosx
+ tan - 1(sinx + cosx) + c

C. 
1

2√3
log

√3 + sinx - cosx

√3 - sinx + cosx
- tan - 1(sinx - cosx) + c

D. none

Answer: B

Watch Video Solution

| |
| |
| |

128. ∫
dx

cosecx + cosx
=

A. 
1

√3
log

cosx - sinx - √3

cosx - sin + √3
- tan - 1(cosx + sinx) + c| |

https://dl.doubtnut.com/l/_vt5XQil7Ji8Q
https://dl.doubtnut.com/l/_8w6ERzBqVqXR
https://dl.doubtnut.com/l/_K1DLwlnNGLsb


B. 
1

2√3
log

cosx - sinx - √3

cosx - sinx + √3
- tan - 1(cosx + sinx) + c

C. 
1

√3
log

cosx - sinx - √3

cosx - sin + √3
+ tan - 1(cosx + sinx) + c

D. 
1

2√3
log

cosx - sinx - √3

cosx - sin + √3
+ tan - 1(cosx + sinx) + c

Answer: B

Watch Video Solution

| |
| |
| |

129. If ∫
x2 - 1

(x + 1)2√x x2 + x + 1

dx = Atan - 1
√x2 +x + 1

x
+ c in which c

is a constant then A =

A. 3

B. 2

C. 1

D. 1/2

( )
( ) ( )

https://dl.doubtnut.com/l/_K1DLwlnNGLsb
https://dl.doubtnut.com/l/_jfX2wDpI1VlB


Answer: B

Watch Video Solution

130. If ∫
dx

1 + √x √x - x2
=

A√x

√1 - x
+

B

√1 - x
+ C, where C is a real

constant then A + B =

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_jfX2wDpI1VlB
https://dl.doubtnut.com/l/_m0sGfjlmjGGh


131. ∫
1

√cos4 - x - cos2xsin2x
dx =

A. sinh - 1(tanx) + c

B. - sinh - 1(tanx) + c

C. -cos - 1(tanx) + c

D. none

Answer: C

Watch Video Solution

132. ∫
1

√cosec2x + cot2x
dx =

A. tan - 1(cosx) + c

B. - sinh - 1(cosx) + c

C. sinh - 1(cosx) + c

https://dl.doubtnut.com/l/_qhAG2q8vSj3x
https://dl.doubtnut.com/l/_rDNickfb3I2o


EXERCISE 1C

D. none

Answer: B

Watch Video Solution

1. ∫x2exdx =

A. ex x2 - 1 + c

B. ex x2 + 2x + 1 + c

C. ex x2 - 2x + 2 + c

D. none

Answer: C

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_rDNickfb3I2o
https://dl.doubtnut.com/l/_gObRSkWSmhfT


2. ∫x2xdx =

A. 
2x

log2
x -

1
log2

+ c

B. 
2x

log2
- x +

1
log2

+ c

C. 
2x

log2
x +

1
log2

+ c

D. none

Answer: A

Watch Video Solution

( )
( )
( )

3. If ∫x3e5xdx =
e5x

54 (f(x)) + c, then f(x)=

A. e5x x3

5
-

3x2

25
+

6x
125

-
6

625
+ c

B. e5x x3

5
-

3x2

25
-

6x
125

-
6

625
+ c

[ ]
[ ]

https://dl.doubtnut.com/l/_RSYjjknowDwb
https://dl.doubtnut.com/l/_AkiFPXeT44Vk


C. e5x x3

5
+

3x2

25
+

6x
125

-
6

625
+ c

D. e5x x3

5
-

3x2

25
+

6x
125

+
6

625
+ c

Answer: A

Watch Video Solution

[ ]
[ ]

4. If ∫x3e5xdx -
e5x

54 (f(x)) + 03 then f(x) =

A. 
x3

5
-

3x2

52 +
6x

53 -
6

54

B. 5x3 - 52x2 + 53x - 6

C. 52x3 - 15x2 + 30x - 6

D. 53x3 - 75x2 + 30x - 6

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AkiFPXeT44Vk
https://dl.doubtnut.com/l/_nVx6AUynwwRR


5. ∫xcosxdx =

A. xsinx - cosx + c

B. xsinx + cosx + c

C. xsinx - 2cosx + c

D. none

Answer: B

Watch Video Solution

6. ∫x2cos2xdx =

A. 
1
2

x3

3
+
x2

2
sin2x +

xcos2x
2

+
sin2x

4
∣ c

B. 
1
2

x3

3
+
x2

2
sin2x +

xcos2x
2

-
sin2x

4
∣ c

[ ]
[ ]

https://dl.doubtnut.com/l/_nVx6AUynwwRR
https://dl.doubtnut.com/l/_JwR36vvyJyAt
https://dl.doubtnut.com/l/_2r7LN0a4l99l


C. 
1
2

x3

3
-
x2

2
sin2x -

xcos2x
2

-
sin2x

4
∣ c

D. none

Answer: B

Watch Video Solution

[ ]

7. ∫xcos2xdx =

A. 
x
2

sin2x +
1
4

cos2x + c

B. 
x
2

sin2x +
1
2

cos2x + c

C. 
x
2

sin2x -
1
4

cos2x + c

D. 
x
2

sin2x -
1
2

cos2x + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2r7LN0a4l99l
https://dl.doubtnut.com/l/_7TZMxsBRERKx


8. ∫x2sin2xdx =

A. 
1
2

x3

3
-
x2

2
sin2x -

x
2

cos2x -
1
4

sin2x + c

B. 
1
2

x3

3
-
x2

2
sin2x +

x
2

cos2x -
1
4

sin2x + c

C. 
1
2

x3

3
+
x2

2
sin2x +

x
2

cos2x +
1
4

sin2x + c

D. none

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

9. ∫xsinhxdx =

A. xcoshx + sinhx + c

B. -coshx + sinhx + c

https://dl.doubtnut.com/l/_fZDtz7f53CKG
https://dl.doubtnut.com/l/_95QokbE2rQAe


C. xcoshx - sinhx + c

D. none

Answer: C

Watch Video Solution

10. ∫ logxdx =

A. x(logx - 1) + c

B. x(logx + 1) + c

C. xlogx - 1 + c

D. xlogx + 1 + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_95QokbE2rQAe
https://dl.doubtnut.com/l/_F12NlxKEFdRL
https://dl.doubtnut.com/l/_et2oFIa1fphD


11. ∫x2logxdx =

A. 
x3

3
logx -

1
2

+ c

B. 
x3

3
logx -

1
3

+ c

C. 
x3

3
logx +

1
3

+ c

D. none

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

12. Evaluate the integerals. 

∫xnlogxdxon(0, ∞),  n is a real nuber and n ≠ - 1.

A. 
xn - 1

n + 1
logx -

1
n + 1

+ c

B. 
xn - 1

n + 1
logx +

1
n + 1

+ c

[ ]
[ ]

https://dl.doubtnut.com/l/_et2oFIa1fphD
https://dl.doubtnut.com/l/_9W3m1SroTZRr


C. 
xn - 1

n + 1
logx -

1
n + 1

- xn + c

D. none

Answer: A

Watch Video Solution

[ ]

13. ∫ log x + √x2 - 1 dx =

A. xlog x + √x2 - 1 - √x2 - 1 + x + c

B. xlog x + √x2 - 1 - √x2 - 1 + c

C. xlog x + √x2 + 1 - √x2 - 1 + c

D. none

Answer: B

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_9W3m1SroTZRr
https://dl.doubtnut.com/l/_XJgHtHEYRauX


14. If ∫ log a2 + x2 dx = h(x) + c, then h(x)=

A. xlog a2 + x2 + 2tan - 1 x
a

B. x2log a2 + x2 + x + atan - 1 x
a

C. xlog a2 + x2 - 2x + 2atan - 1 x
a

D. x2log a2 + x2 + 2x - 2atan - 1 x
a

Answer: C

Watch Video Solution

( )

( ) ( )
( ) ( )

( ) ( )
( ) ( )

15. ∫xsecxtanxdx =

A. xsecx - log|secx - tanx| - c

B. xsecx + log|secx - tanx| - c

C. xsecx - log|secx + tanx| + c

https://dl.doubtnut.com/l/_NvvFERsYfO6Y
https://dl.doubtnut.com/l/_8UzxSSoefxDX


D. none

Answer: C

Watch Video Solution

16. ∫cosec2xdx = ?

A. -xcotx - log|sinx| + c

B. xcotx - log|sinx| + c

C. xcotx + log|sinx| + c

D. -xcotx + log|sinx| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8UzxSSoefxDX
https://dl.doubtnut.com/l/_8nSN6slpWHff


17. ∫sin - 1xdx =

A. xsin - 1x - √1 - x2 + c

B. xsin - 1x + √1 - x2 + c

C. xsin - 1x +
1
2√1 - x2 + c

D. xsin - 1x -
1
2√1 - x2 + c

Answer: B

Watch Video Solution

18. ∫cos - 1xdx

A. xcos - 1x - √1 - x2 + c

B. xcos - 1x - √1 - x2 - x + c

C. xcos - 1x + √1 - x2 + c

D. xcos - 1x + √1 + x2 + c

https://dl.doubtnut.com/l/_YgiPBYMkmtHK
https://dl.doubtnut.com/l/_wQxixDHXpIUk


Answer: A

Watch Video Solution

19. Evaluate ` int x sin^(-1)x dx " on " (-1,1) .

A. 
1
2

x2 +
1
2

sin - 1x +
x
2√1 + x2 + c

B. 
1
3

x2 -
1
2

sin - 1x -
x
2√1 - x2 + c

C. 
1
2

x2 -
1
2

sin - 1x +
x
2√1 - x2 + c

D. 
1
3

x2 -
1
2

sin - 1x +
x
2√1 - x2 + c

Answer: C

Watch Video Solution

[( ) ]
[( ) ]
[( ) ]
[( ) ]

20. ∫cot - 1xdx =

https://dl.doubtnut.com/l/_wQxixDHXpIUk
https://dl.doubtnut.com/l/_ZheIVMGVRdJY
https://dl.doubtnut.com/l/_ajS2YfT8TmkT


A. xcot - 1x +
1
2

log 1 + x2 + c

B. xcot - 1x + log 1 + x2 + c

C. xcot - 1x -
1
2

log 1 + x2 + c

D. xcot - 1x +
1
2

log 1 + x2 + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

21. ∫sec - 1xdx =

A. xsec - 1x + cosh - 1x + c

B. xsec - 1x - cosh - 1x + c

C. xsec - 1x + log x + √x2 - 1 x + c

D. none

Answer: B

( )

https://dl.doubtnut.com/l/_ajS2YfT8TmkT
https://dl.doubtnut.com/l/_tviLvfEE6cif


Watch Video Solution

22. ∫ tan - 1 2x

1 - x2 dx =

A. 2xtan - 1x - log 1 + x2 - x + c

B. 2xtan - 1x + log 1 + x2 + c

C. 2xtan - 1x - log 1 + x2 + c

D. none

Answer: C

Watch Video Solution

( )
( )
( )
( )

23. ∫cos - 1 2x2 - 1 dx =

A. 2 xcos - 1x - √1 - x2 + c

( )

( )

https://dl.doubtnut.com/l/_tviLvfEE6cif
https://dl.doubtnut.com/l/_6cB1mQTYvEnY
https://dl.doubtnut.com/l/_6h6iwnMYrLnK


B. 2 xcos - 1x + √1 - x2 + c

C. 2 xcos - 1x - sin - 1x + c

D. none

Answer: A

Watch Video Solution

( )
( )

24. ∫sin - 1 3x - 4x3 dx =

A. 3 xsin - 1x - √1 - x2 + c

B. 3 xsin - 1x + √1 - x2 + c

C. xsin - 1x + √1 - x2 + c

D. none

Answer: B

Watch Video Solution

( )

(
(

https://dl.doubtnut.com/l/_6h6iwnMYrLnK
https://dl.doubtnut.com/l/_cRFhks7hd6df


25. ∫xtan - 1xdx =

A. 
x2

2
tan - 1x -

1
2
x +

1
2

tan - 1x + c

B. 
x2

2
tan - 1x +

1
2

-
1
2

tan - 1x + c

C. 
x2

2
tan - 1x +

1
2

+
1
2

tan - 1x + c

D. none

Answer: A

Watch Video Solution

26. ∫ tan
1 - x
1 + x

dx =

A. 
1
2

xcos - 1x - √1 - x2 + c

B. 
1
2

xcos - 1x + √1 - x2 + c

(√ )
( )
( )

https://dl.doubtnut.com/l/_cRFhks7hd6df
https://dl.doubtnut.com/l/_flJKdwfMPmFj
https://dl.doubtnut.com/l/_NBLqYqoTPNZh


C. 
1
2

xcos - 1x + √1 - x2 + C

D. 
1
2 xsin - 1x + √1 - x2 + C

Answer: A

Watch Video Solution

( )
( )

27. ∫sin - 1 2x

1 + x2 dx = f(x) - log 1 + x2 + c ⇒ f(x) =

A. 2xtan - 1x

B. -2xtan - 1x

C. xtan - 1x

D. -xtan - 1x

Answer: A

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_NBLqYqoTPNZh
https://dl.doubtnut.com/l/_Fx57DP1Y98Fs


28. If

I1 = ∫sin - 1 2x

1 + x2 dx, I2 = ∫cos - 1 1 - x2

1 + x2 dx, I3 = ∫ tan - 1 2x

1 - x2 dx

then the value of I1 + I2 - I3 =

A. 2xtan - 1x - log 1 + x2 + c

B. 2 xtan - 1x - log 1 + x2
∣ + c

C. 2xtan - 1x + log 1 + x2 + c

D. 0

Answer: A

Watch Video Solution

( ) ( ) ( )

( )
[ ( )]

( )

29. ∫sinh - 1xdx =

A. xsinh - 1x - √1 + x2 + c

https://dl.doubtnut.com/l/_qTUVymbV0pfv
https://dl.doubtnut.com/l/_YJH6PWEbXwFW


B. xsinh - 1x - √x2 - 1 + c

C. xsinh - 1x + √1 + x2 + c

D. none

Answer: A

Watch Video Solution

30. ∫cosh - 1xdx =

A. xcosh - 1x + √x2 + 1 + c

B. xcosh - 1x - √x2 - 1 + c

C. xcosh1 -x + √1 + x2 + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YJH6PWEbXwFW
https://dl.doubtnut.com/l/_B5hCBKxRLBNT


31. ∫
x + sinx
1 + cosx

dx=

A. xtan
x
2

+ c

B. -xtan
x
2

+ c

C. -x2tan
x
2

+ c

D. -x2tanx + c

Answer: A

Watch Video Solution

32. `int ((x)/(2)"sec"^(2)(x)/(2)+"tan"^(x)/(2))dx

A. sec
x
2

+ c

B. xtan
x
2

+ c

C. xsec
x
2

+ tan
x
2

+ c

https://dl.doubtnut.com/l/_B5hCBKxRLBNT
https://dl.doubtnut.com/l/_0NyLlVTbCkSF
https://dl.doubtnut.com/l/_M7vsK6AjV4q2


D. none

Answer: B

Watch Video Solution

33. ∫
x - sinx
1 + cosx

dx = tan
x
2

+ plog sec
x
2

+ c ⇒ p =

A. -4

B. 4

C. 2

D. -2

Answer: A

Watch Video Solution

( ) | ( )|

https://dl.doubtnut.com/l/_M7vsK6AjV4q2
https://dl.doubtnut.com/l/_eOiCqT6z9lyo


34. ∫cos√xdx =

A. 2√xsin√x + 2cos√x + c

B. 2√xsin√x + 2sin√x + c

C. 2√xsin√x - 2cos√x + c

D. √xcos√x - 2cos√x + c

Answer: A

Watch Video Solution

35. ∫x3
⋅ ex

2
dx =

A. 
1
2

x2ex
2

+ ex
2

+ c

B. 
ex

2
x2 - 1

2
+ c

C. 
ex

2
x2 + 1

2
+ c

( )
( )

( )

https://dl.doubtnut.com/l/_PHA5Du5LPm80
https://dl.doubtnut.com/l/_ZpjlVEmYUg2H


D. none

Answer: B

Watch Video Solution

36. ∫x
sec2x - 1
sec2x + 1

dx =

A. xtanx - log|secx|
x2

2
+ c

B. xtanx - log|secx| -
x2

2
+ c

C. xtanx + log|secx| -
x2

2 + c

D. xtanx + log|secx|
x2

2
+ c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_ZpjlVEmYUg2H
https://dl.doubtnut.com/l/_chG1JZkj8xLi


37. ∫
x

1 + cosx
dx =

A. xtan
x
1

+ 2log sec
x
2

+ c

B. xtan
x
2

- 2log sec
x
2

+ c

C. xtan
x
2

- 2log sec
x
2

- x + c

D. none

Answer: B

Watch Video Solution

| |
| |
| |

38. ∫sin(logx) + cos(logx)dx =

A. xsin(logx) + c

B. x - sin(logx) + c

C. xcos(logx) + c

https://dl.doubtnut.com/l/_GrqC1FOQw3sX
https://dl.doubtnut.com/l/_bgBtkJ2Gp92g


D. none

Answer: A

Watch Video Solution

39. ∫sin(logx)dx =

A. 
x
2

[sin(logx) - cos(logx)] + c

B. 
x
2

[sin(logx) - cos(logx)] - x + c

C. 
x
2

[sin(logx) + cos(logx)] + c

D. 
x
2

[sin(logx) + tan(logx)] - c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bgBtkJ2Gp92g
https://dl.doubtnut.com/l/_33yWoM923eFh


40. ∫
logx

(1 + logx)2 dx =

A. 
-x

1 + logx + c

B. 
x

1 + logx + c

C. 
x

1 - logx + c

D. none

Answer: B

Watch Video Solution

41. ∫
1

logx
-

1

(logx)2dx =

A. 
2x

logx
+ c

B. 
x

1 + logx
+ c

C. 
x

logx
+ c

https://dl.doubtnut.com/l/_yTYh1W73TsKK
https://dl.doubtnut.com/l/_lphtixwNTUSd


D. none

Answer: C

Watch Video Solution

42. ∫ex x2 + 2x + 3 dx =

A. ex x2 - 3 + c

B. ex x2 + 3 - x + c

C. ex x2 + 3 + c

D. ex x2 - 3 - x + c

Answer: C

Watch Video Solution

( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_lphtixwNTUSd
https://dl.doubtnut.com/l/_37ahcoZchoft


43. ∫ (x + 1)2exdx =

A. x2 + c

B. x2ex + c

C. (x + 1)xx + c

D. x2 + 1 ex + c

Answer: D

Watch Video Solution

( )

44. ∫ex(cosx - sinx)dx =

A. ex + cosx + c

B. sinx + c

C. excosx + c

D. sinx - c

https://dl.doubtnut.com/l/_tzRzWuPrGKtx
https://dl.doubtnut.com/l/_6JeiJkyJNb6E


Answer: C

Watch Video Solution

45. Evaluate the integerals. 

∫ex tanx + sec2x dx 


onI ⊂ R\ (2n + 1)
π
2

: n ∈ Z .

A. exsecx + c

B. extanxsecx + c

C. extanx + c

D. none

Answer: C

Watch Video Solution

( )

{ }

https://dl.doubtnut.com/l/_6JeiJkyJNb6E
https://dl.doubtnut.com/l/_Pf05bOTkTLbh


46. ∫ex tanx + tan2x dx =

A. ex(tanx - 1) + c

B. ex(tanx - 1)x + c

C. ex(tanx + 1) + c

D. none

Answer: A

Watch Video Solution

( )

47. ∫excosecx(1 - cotx)dx =

A. -excotx + c

B. excosecx + c

C. -excosecx + c

D. excosx + c

https://dl.doubtnut.com/l/_K4omwbMxsraX
https://dl.doubtnut.com/l/_iJmZmh2C8bYN


Answer: B

Watch Video Solution

48. ∫ex 1 - cotx + cot2x dx =

A. excotx + c

B. -excotx + c

C. excosecx + c

D. excosecx + c

Answer: B

Watch Video Solution

( )

49. ∫exsecx(1 + tanx)dx =

https://dl.doubtnut.com/l/_iJmZmh2C8bYN
https://dl.doubtnut.com/l/_Zt7mBqafmuwY
https://dl.doubtnut.com/l/_GvRqPJzG9Dik


A. tanx + c

B. exsecx + c

C. excosecx + c

D. none

Answer: B

Watch Video Solution

50. If ∫ex(1 + x) ⋅ sec2 xex dx = f(x) +  constant, then f(x) =

A. cos(xe^x)

B. sin(xe^x)

C. 2tan in x

D. tan(x(e^x))

Answer: D

( )

https://dl.doubtnut.com/l/_GvRqPJzG9Dik
https://dl.doubtnut.com/l/_748voXSiHGeo


Watch Video Solution

51. Evaluate the integerals. 

∫ex
1 + xlogx

x
dxon(0, ∞).

Watch Video Solution

( )

52. ∫ex(x + 1)logxdx =

A. ex(xlogx - 1) - x + c

B. ex(xlogx - 1) + c

C. ex(xlogx + 1) + c

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_748voXSiHGeo
https://dl.doubtnut.com/l/_A1MLUWsn8gBS
https://dl.doubtnut.com/l/_bWoEWAv9zi1d


53. ∫
ex

x + 2 [1 + (x + 2)log(x + 2)]dx =

A. ex
1

x + 2 + c

B. -ex
1

x + 2 + c

C. exlog(x + 2) + c

D. none

Answer: C

Watch Video Solution

54. Evaluate the integerals. 

∫ex tan - 1x +
1

1 + x2 dx, x ∈ R.

A. extan - 1x + c

B. -extan - 1x + c

( )

https://dl.doubtnut.com/l/_bWoEWAv9zi1d
https://dl.doubtnut.com/l/_X0raxol7vxL1
https://dl.doubtnut.com/l/_fp0AbHl2Ndbk


C. -extanh - 1x + c

D. none

Answer: A

Watch Video Solution

55. ∫ex
1 + sinx
1 + cosx

dx =

A. extanx /2 + c

B. exsecx /2tanx /2 + c

C. ex2tanx /2 + c

D. none

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_fp0AbHl2Ndbk
https://dl.doubtnut.com/l/_rt8oNm4rIcOK
https://dl.doubtnut.com/l/_rDGPbP0FFwsu


56. If ∫ex
cosx - sinx
1 - cos2x

dx=

A. 
-1
2
excosecx - x + c

B. 
1
2
excosecx + c

C. 
1
2
exsecx + c

D. none

Answer: B

Watch Video Solution

[ ]

57. ∫ex
cosx + sinx
1 + cos2x

dx =

A. 
1
2
exsecx + c

B. 
1
2
exsinx + c

C. 
1
2
excosx + c

[ ]

https://dl.doubtnut.com/l/_rDGPbP0FFwsu
https://dl.doubtnut.com/l/_qDMeLXt3hBjk


D. none

Answer: A

Watch Video Solution

58. If ∫ex
cosx - sinx
1 - cos2x

dx=

A. excot
x
2

B. excot
x
2

C. -
1
2
excosec(x) + C

D. -excot
x
2

Answer: C

Watch Video Solution

[ ]
( )
( )

( )

https://dl.doubtnut.com/l/_qDMeLXt3hBjk
https://dl.doubtnut.com/l/_4YeH90uMxtDt
https://dl.doubtnut.com/l/_aMPosTomWWOB


59. ∫
2 - sin2x
1 - cos2x

exdx =

A. -excotx + c

B. excotx + c

C. 2excotx + c

D. -2excotx + c

Answer: A

Watch Video Solution

( )

60. ∫ex logx +
1

x2 dx =

A. exlogx + c

B. ex logx -
1
x

+ c

C. ex logx +
1
2

+ c

( )

( )
( )

https://dl.doubtnut.com/l/_aMPosTomWWOB
https://dl.doubtnut.com/l/_gsqeVt5TvFX9


D. 
ex

x2 + c

Answer: B

Watch Video Solution

61. ∫
xex

(x + 1)2 = dx

A. 
ex

x + 1
+ c

B. -
ex

x + 1 + c

C. 
ex

(x + 1)2 + c

D. -
ex

(x + 1)2 + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gsqeVt5TvFX9
https://dl.doubtnut.com/l/_bq53bD4MnZyY


62. ∫ex
x + 2

(x + 3)2 dx

A. ex
1

x + 3
- x + c

B. ex
1

x + 3
+ c

C. ex
1

x - 3
+ c

D. none

Answer: B

Watch Video Solution

( )

63. ∫ex
2 + sin2x
1 + cos2x

dx =

A. excotx + c

B. 2exsec2x + c

C. 2exsec2x + c

(

https://dl.doubtnut.com/l/_Yo54ujzpXlx8
https://dl.doubtnut.com/l/_MqhFCq971wn5


D. extanx + c

Answer: D

Watch Video Solution

64. ∫
(x + 1)dx

x 1 + xex
=

A. log
1 + xex

xex
+ c

B. log
xex

1 + xex
+ c

C. logxe2 1 + xex = c

D. log 1 + xex + c

Answer: B

Watch Video Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_MqhFCq971wn5
https://dl.doubtnut.com/l/_dL2OQzaDbjMS
https://dl.doubtnut.com/l/_tYUXyXRzx5Bx


65. ∫ex
1 - x

1 + x2

2
dx =

A. 
ex

1 + x2 2
+ c

B. ex
(1 - x)

1 + x2 + c

C. 
ex

1 + x2 + c

D. ex
(1 - x)

1 + x2 2
+ c

Answer: C

Watch Video Solution

{ }
( )

( )

( )

66. ∫e - x(sinx - cosx)dx =

A. -exsinx + c

B. exsinx + c

https://dl.doubtnut.com/l/_tYUXyXRzx5Bx
https://dl.doubtnut.com/l/_zS99tzlLABIb


C. -excosx + c

D. none

Answer: A

Watch Video Solution

67. If ∫ex(2 + sin2x)sec2xdx = f(x) + c then f(x) =

A. ex(1 + cos2x)sinx

B. ex(secx + tanx)

C. 2extanx

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zS99tzlLABIb
https://dl.doubtnut.com/l/_UjXmfHAt3rqD
https://dl.doubtnut.com/l/_0Pk7t2GOlDOv


68. ∫
ex x2 + 1

(1 + x)2 dx =

A. ex
x + 1
x - 1 + c

B. 
ex(x - 2)
x + 1

+ c

C. 
ex(x - 1)
x + 1

+ c

D. none

Answer: C

Watch Video Solution

( )

( )

69. ∫ex x + √1 + x2 1 +
1

√1 + x2
dx =

A. excosh - 1x + c

B. 
ex

√1 + x2
dx =

( )( )

https://dl.doubtnut.com/l/_0Pk7t2GOlDOv
https://dl.doubtnut.com/l/_IV5VLDeAfwM1


C. esinh - 1 + c

D. ex x + √1 + x2 + c

Answer: D

Watch Video Solution

( )

70. ∫eax[af(x) + f′ (x)]dx =

A. eaxf(x) + c

B. eaxa / f(x) + c

C. aeaxf(x) + c

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IV5VLDeAfwM1
https://dl.doubtnut.com/l/_AB4Gf0mLFsaD
https://dl.doubtnut.com/l/_exXJvy71CrI1


71. ∫
ex

√x
(1 + 2x)dx =

A. √xex + c

B. ex /√x + c

C. 2ex√x + c

D. none

Answer: C

Watch Video Solution

72. ∫ |x|dx =

A. 
x2

2
+ c

B. 
x|x|
2

+ c

C. x2 + c

D. 
|x|2

2
+ c

https://dl.doubtnut.com/l/_exXJvy71CrI1
https://dl.doubtnut.com/l/_rJ6ko3DdB21z


Answer: B

Watch Video Solution

73. ∫
3 - x2

1 - 2x + x2e
xdx = exf(x) + c ⇒ f(x) =

A. 
1 + x
1 - x

B. 
1 - x
1 + x

C. 
1 + x
x - 1

D. 
x - 1
1 + x

Answer: A

Watch Video Solution

74. Evaluate the integerals. 

∫excosxdxonR.

https://dl.doubtnut.com/l/_rJ6ko3DdB21z
https://dl.doubtnut.com/l/_uexhFQkaq38o
https://dl.doubtnut.com/l/_4sMAVlMQhOCh


A. 
1
4
ex

3
2

(cosx + sinx) +
1

10
(cos3x + 3sin3x) + c

B. 
1
4
ex

3
2

(cosx + sinx) -
1
10

(cos3x - 3sin3x) + c

C. 
1
4
ex

3
2

(cosx + sinx) -
1
10

(cos3x + 3sin3x) + c

D. 
1
4
ex

3
2

(cosx - sinx) +
1
10

(cos3x - 3sin3x) + c

Answer: A

Watch Video Solution

[ ]
[ ]
[ ]
[ ]

75. ∫e5xsin6xdx =

A. 
e5x

61
(5sin6x - 6cos6x) + c

B. 
e5x

61
(5sin6x + 6cos6x) + c

C. 
e5x

61 (5sin6x - 2cos6x) + c

D. 
e5x

61
(5sin6x + 2cos6x) + c

https://dl.doubtnut.com/l/_4sMAVlMQhOCh
https://dl.doubtnut.com/l/_jBOza5rQj4Ur


Answer: A

Watch Video Solution

76. Evaluate the integerals. 

∫eaxsinbxdxonR, a, b, ∈ R.

A. 
eax

a2 - b2 (asinbx - bcosbx) + c

B. 
eax

a2 - b2 (asinbx - bcosbx) + c

C. 
eax

a2 - b2 (asinbx + bcosbx) + c

D. 
eax

a2 - b2 (bsinbx + acosbx) + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jBOza5rQj4Ur
https://dl.doubtnut.com/l/_92tbp3HvRDCh


77. Evaluate the following integrals 

∫exsin3xcos3xdx

A. 
1
2
ex

1
26

(sin5x + 5cos5x) +
1
2

(sinx - cosx) + c

B. 
1
2
ex

1
26

(sin5x - 5cos5x) +
1
2

(sinx + cosx) + c

C. 
1
2
ex

1
26

(sin5x - 5cos5x) +
1
2

(sinx - cosx) + c

D. 
1
2
ex

1
26

(sin5x - 5cos5x) -
1
2

(sinx - cosx) + c

Answer: C

Watch Video Solution

[ ]
[ ]
[ ]
[ ]

78. ∫etan - 1 1 + x + x2

1 + x2 dx =

A. xetan - 1x + c

B. x2etan - 1x + c

( )

https://dl.doubtnut.com/l/_u9BZfW2TDOWQ
https://dl.doubtnut.com/l/_DFYQ7MWlKoig


C. 1/xetan - 1x + c

D. 1/x2etan - 1x + c

Answer: A

Watch Video Solution

79. ∫
logx - 1

(logx)2 dx =

A. 
x

logx + c

B. 
logx
x + c

C. 
1

logx + c

D. -
1

logx + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DFYQ7MWlKoig
https://dl.doubtnut.com/l/_1VfgSzti5AVe
https://dl.doubtnut.com/l/_AjSbGGXBhuog


80. ∫
(logx - 1)

1 + (logx)2

2
dx =

A. 
logx

(logx)2 + 1
+ c

B. 
x

x2 + 1
+ c

C. 
xex

1 + x2 + c

D. 
x

(logx)2 + 1
+ c

Answer: D

Watch Video Solution

{ ( )}

81. ∫
x -

1
2 sin2x

sin2x
dx =

A. -cotx + c

B. xcotx + c

C. -xcotx + c

https://dl.doubtnut.com/l/_AjSbGGXBhuog
https://dl.doubtnut.com/l/_86fpsBuhGClY


D. xtanx + c

Answer: A

Watch Video Solution

82. ∫e - xtan - 1 ex dx = f(x) -
1
2

log 1 + e2x + c ⇒ f(x) =

A. ex - e - xtan - 1 ex

B. ex + e - xtan - 1 ex

C. -e - xtan - 1 ex

D. x - extan - 1 ex

Answer: D

Watch Video Solution

( ) ( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_86fpsBuhGClY
https://dl.doubtnut.com/l/_yulAeZF7yLC4


83. If ∫ f(x)dx = Ψ(x), then∫x5f x3 dx ie equal to :

A. 
1
3
x3Ψ x3 - ∫x2Ψ x3 dx + c

B. 
1
3

x3Ψ x3 - ∫x2Ψ x3 dx + c

C. 
1
3

x3Ψ x3 - ∫x2Ψ x3 dx + c

D. 
1
3
x3Ψ x3 - ∫x2Ψ x3 dx + c

Answer: A

Watch Video Solution

( )

( ) ( )
[ ( ) ( ) ]
[ ( ) ( ) ]

( ) ( )

84. If In = ∫ (logx)ndx then In + nIn - 1 =

A. x(logx)n - 1

B. x(logx)n

C. nx(logx)n

D. none

https://dl.doubtnut.com/l/_DBWm3AUwQf3m
https://dl.doubtnut.com/l/_x69EYajRXuwQ


Answer: B

Watch Video Solution

85. ∫ (logx)4dx =

A. x (logx)4 - 4(logx)3 + 12(logx)2 - 24logx - 24 + c

B. x (logx)4 + 4(logx)3 + 12(logx)2 + 24logx + 24 + c

C. x (logx)4 - 4(logx)3 - 12(logx)2 - 24logx - 24 + c

D. x (logx)4 - 4(logx)3 + 12(logx)2 - 24logx + 24 + c

Answer: D

View Text Solution

[ ]
[ ]
[ ]
[ ]

86. ∫ (logx)5dx =

https://dl.doubtnut.com/l/_x69EYajRXuwQ
https://dl.doubtnut.com/l/_UQTQCwtIToRh
https://dl.doubtnut.com/l/_0oVz8gBHx9KJ


A. x log5x - 5log4x + 20log3x - 60log2x - 120logx - 120 + c

B. x log5x - 5log4x + 20log3x - 60log2x + 120logx - 120 + c

C. x log5x + 5log4x - 20log3x + 60log2x + 120logx - 120 + c

D. x log5x - 5log4x + 20log3x - 60log2x - 120logx - 120 - c

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]
[ ]

87. For x > 0, if 

∫ (logx)5dx = x A(logx)5 + B(logx)4 + C(logx)3 + D(logx)2 + E(logx) + F +

constant then A + B + C + D + E + F=

A. -44

B. -42

C. -40

D. -36

( ] )

https://dl.doubtnut.com/l/_0oVz8gBHx9KJ
https://dl.doubtnut.com/l/_3P7PVfZmBBLW


Answer: A

Watch Video Solution

88. If fn(x) = logloglog.... logx(log is repeated n times, then 

∫ xf1(x)f2(x).... . fnf(x) - 1dx =

A. fn+ 1(x) + c

B. 
fnn+ 1(x)

n + 1
+ c

C. nfaf(x) + c

D. 
fn(x)

n
+ c

Answer: A

View Text Solution

[( ]

89. If In = ∫xn ⋅ ecxdx for n ≤ 1 then c ⋅ In + n ⋅ In - 1 = c

https://dl.doubtnut.com/l/_3P7PVfZmBBLW
https://dl.doubtnut.com/l/_YO0jOEEuJt7i
https://dl.doubtnut.com/l/_S0iQ2sHbqr5J


A. xnecx

B. xn

C. ecx

D. xn + ecx

Answer: A

Watch Video Solution

90. If In = ∫sinnxdx, then nIn - (n - 1)In - 2 =

A. sinn - 1xcosx

B. cosn - 1xcosx

C. - sinn - 1xcosx

D. -cosn - 1xcosx

Answer: C

https://dl.doubtnut.com/l/_S0iQ2sHbqr5J
https://dl.doubtnut.com/l/_rWH2k49fgUBC


Watch Video Solution

91. ∫sin5, dx =

A. 
- sin4xcosx

5
-

4
15

sin2cosx +
8
15

cosx + c

B. 
- sin4xcosx

5
-

4
15

sin2cosx -
8

15
cosx + c

C. 
- sin4xcosx

5 +
4
15sin2cosx +

8
15cosx + c

D. none

Answer: B

Watch Video Solution

92. ∫cos4xdx =

A. 
cos2x - sinx

4
-

3
8

cosxsinx -
3
8
x + c

B. 
cos2x - sinx

4
+

3
8

cosxsinx -
3
8
x + c

https://dl.doubtnut.com/l/_rWH2k49fgUBC
https://dl.doubtnut.com/l/_NpzQvZaqNJlN
https://dl.doubtnut.com/l/_XXyuqoW0SEY5


C. 
cos2x - sinx

4
+

3
8

cosxsinx +
3
7
x + c

D. 
cos2x - sinx

4
+

3
8

cosxsinx +
3
8
x + c

Answer: D

Watch Video Solution

93. ∫cos5xdx =

A. 
cos4xsinx

3 -
4
15cos2xsinx -

8
15sinx + c

B. 
cos4xsinx

3
+

4
15

cos2xsinx -
8
15

sinx + c

C. 
cos4xsinx

3
-

4
15

cos2xsinx -
8

15
sinx + c

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XXyuqoW0SEY5
https://dl.doubtnut.com/l/_yGKdL7symeL0
https://dl.doubtnut.com/l/_ErT6hLQFqxyh


94. ∫cos6xdx =

A. 
1
6

cos2xsinx -
5
24

cos3xsinx -
15
48

x +
15
48

x + c

B. 
1
6

cos2xsinx +
5

24
cos3xsinx -

15
48

x +
15
48

x + c

C. 
1
6

cos2xsinx +
5

24
cos3xsinx +

15
48

x +
15
48

x + c

D. none

Answer: C

Watch Video Solution

95. If Im ,n = ∫xm(logx)ndx then Im .n =

A. 
xm+ 1

m + 1
(logx)n -

n
n + 1

Im ,n - 1

B. 
xm+ 1

m + 1
(logx)n +

n
n + 1

Im ,n - 1

C. 
xm+ 1

m + 1 (logx)n -
n

n - 1 Im ,n - 1

D. none

https://dl.doubtnut.com/l/_ErT6hLQFqxyh
https://dl.doubtnut.com/l/_2hRVlrhNrKTh


Answer: A

Watch Video Solution

96. If In = ∫ eax
dx

xn
, then In =

A. 
ex

(n - 1)xn - 1 +
a

n - 1
In - 1

B. 
-eax

(n - 1)xn - 1 +
a

n - 1
In - 1

C. 
-ex

(n - 1)xn - 1 -
a

n - 1
In - 1

D. 
-eax

(n - 1)xn - 1 +
a

n + 1
In+ 1

Answer: B

Watch Video Solution

( )

97. If In = ∫
sinnx
sinx

dx where n > 1, then In - In - 2

https://dl.doubtnut.com/l/_2hRVlrhNrKTh
https://dl.doubtnut.com/l/_dE8IelSmXFN0
https://dl.doubtnut.com/l/_Q5nevXRd6A6e


A. 
2

n - 1
cos(n - 1)x

B. 
2

n - 1
sin(n - 1)x

C. 
2
3

cosnx

D. 
2
3

sinnx

Answer: B

Watch Video Solution

98. If In = ∫
sinnx
cosx

dx, then In =

A. 
-2
n - 1

cos(n - 1)x - In - 2

B. 
-2

n + 1
cos(n - 1)x - In - 2

C. 
-2
n - 1

cos(n + 1)x + 1 - In - 2

D. none

Answer: A

https://dl.doubtnut.com/l/_Q5nevXRd6A6e
https://dl.doubtnut.com/l/_kkWLA7wvmF13


Watch Video Solution

99. If In = ∫
cosnx
cosx dx,  then In =

A. 
2

n + 1 sin(n - 1)x - In - 2

B. 
2

n - 1 sin(n + 1)x - In - 2

C. 
2

n - 1 sin(n - 1)x - In - 2

D. 
3

n - 1 sin(n + 1)x + In - 2

Answer: C

Watch Video Solution

100. If In = ∫
tn

1 + t2
dt,  then In - 2 =

A. 
tn+ 1

n + 1
+ In

B. 
tn+ 1

n + 1
- In

https://dl.doubtnut.com/l/_kkWLA7wvmF13
https://dl.doubtnut.com/l/_Jp1e4ImngNgs
https://dl.doubtnut.com/l/_Z23HFAgAwVlW


C. 
tn+ 1

n - 1
- In

D. 
tn+ 1

2n + 1
- In

Answer: B

Watch Video Solution

101. For any integer n ≤ 2 let In = ∫xdx. If In =
1
a

tann - 1x - bla - 2 for 

n ≥ 2, then ordered pair (a,b) =

A. n - 1,
n - 2
n + 1

B. (n, 1)

C. (n - 1, 1)

D. n - 1
n - 1
n - 2

Answer: C

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_Z23HFAgAwVlW
https://dl.doubtnut.com/l/_UXtg7Eet5O3q


102. ∫ tan5θdθ =

A. 
1
4

tan4θ -
1
2

tan2θ + log|secθ| + c

B. 
1
4

tan4θ +
1
2

tan2θ + log|secθ| + c

C. 
1
4

tan4θ -
1
2

tan2θ - log|secθ| + c

D. none

Answer: A

Watch Video Solution

103. ∫ tan6xdx =

A. 
tan5x

5
-

tanx3x
3

+ tanx + x + c

B. 
tan5x

5 -
tanx3x

3 + tanx - x + c

C. 
tan5x

5
-

tanx3x
3

- tanx - x + c

https://dl.doubtnut.com/l/_UXtg7Eet5O3q
https://dl.doubtnut.com/l/_3EgzEpau0UX1
https://dl.doubtnut.com/l/_x4kFx1BtHCZG


D. none

Answer: B

Watch Video Solution

104. Obtain reduction formula for In = ∫cotnxdx, n being a positive

integer , n ≥ 2 and deduce the value of ∫cot4xdx.

A. -
1
3

cot3x + cotx + x + c

B. -
1
3

cot3x + cotx - x + c

C. -
1
3

cot3x - cotx + x + c

D. 
1
3

cot3x - cotx - x - c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_x4kFx1BtHCZG
https://dl.doubtnut.com/l/_D5MFDSKh8Xx2
https://dl.doubtnut.com/l/_YxCCIqB4Opnr


105. ∫cot7xdx =

A. -
cot6x

6
+

cot4x
4

-
cot2x

2
- log|sinx|c

B. 
cot6x

6
+

cot4x
4

-
cot2x

2
- log|sinx|c

C. -
cot6x

6 -
cot4x

4 -
cot2x

2 - log|sinx|c

D. none

Answer: A

Watch Video Solution

106. ∫sec4xdx =

A. 
1
3sec2xtanx +

2
3 ln|secx + tanx| + c

B. 
1
3sec2xtanx -

2
3 tanx - c

C. 
1
3sec2xtanx +

2
3 tanx + c

D. none

https://dl.doubtnut.com/l/_YxCCIqB4Opnr
https://dl.doubtnut.com/l/_Le0OHkXhp4tN


Answer: C

Watch Video Solution

107. ∫sec5xdx.

A. 
1
4

sec3tanx -
3
8

secxtanx +
3
8

log|secxtanx| + c

B. 
1
4

sec3tanx +
3
8

secxtanx +
3
8

log|secxtanx| + c

C. 
1
4

sec3tanx +
5
8

secxtanx +
1
8

log|secxtanx| + c

D. none

Answer: B

Watch Video Solution

108. Obtain reduction formula for 

In = ∫cosecnxdx, n being a positive integer, n ≥ 2 and deduce the value

https://dl.doubtnut.com/l/_Le0OHkXhp4tN
https://dl.doubtnut.com/l/_pn67XUR7EZOu
https://dl.doubtnut.com/l/_Y41anCq12qcW


of ∫cosec5xdx.

A. -
cosec3xcotx

4
-

3cosecxcotx
8

+
3
8

log|cosecx - cotx| + c

B. 
cosec3xcotx

4
+

3cosecxcotx
8

-
3
8

log|cosecx - cotx| + c

C. -
cosec3xcotx

4 -
2cosecxcotx

8 +
3
8 log|cosecx - cotx| + c

D. -
cosec3xcotx

4
+

2cosecxcotx
8

-
3
8

log|cosecx - cotx| + c

Answer: A

Watch Video Solution

109. ∫cosec6xdx =

A. 
1
5

cosec4xcotx -
4

15
cosec2xcotx -

8
15

cotx + c

B. -
1
5

cosec4xcotx -
4

15
cosec2xcotx -

8
15

cotx + c

C. 
1
5

cosec4xcotx +
4

15
cosec2xcotx +

8
15

cotx + c

D. none

https://dl.doubtnut.com/l/_Y41anCq12qcW
https://dl.doubtnut.com/l/_ZftCd5k0sRhS


EXERCISE 2 (SET-1)

Answer: B

Watch Video Solution

1. I : ∫
1 - x4

1 - x
dx = x +

x2

2
+
x3

3
+
x4

4
+ c 


II : ∫1 + x +
x2

2!
+

x3

3!
+ .... . dx = ex + c

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_ZftCd5k0sRhS
https://dl.doubtnut.com/l/_uQ5s168vwHXE


2. I : ∫
1

cosxsin2x
dx = log

tan(x)
2

+ secx + c 


II ∫
1

cosx + sin2x
dx = cosecx + log|secx + tanx| + c

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 1

View Text Solution

| |

3. I : ∫
(1 + x)ex

sin2 xex
dx = cot xex + c 


II : ∫
secx

(secx + tanx)2dx =
1

2(secx + tanx)2 + c

A. only I is true

( )
( )

https://dl.doubtnut.com/l/_wpaEyXpvtplG
https://dl.doubtnut.com/l/_t11f6oLb7MXo


B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 4

Watch Video Solution

4. I : ∫
dx

√x(x + 9)
= f(x) + c constnat, then f(x) =

2
3

tan - 1
√x

3
 


II : ∫
dx

(x + 100)√x + 99
= f(x) + c ⇒ f(x) = 2tan - 1√x + 99

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

( )

https://dl.doubtnut.com/l/_t11f6oLb7MXo
https://dl.doubtnut.com/l/_RXshwtWemP4c


EXERCISE 2 (SET-2)

Answer: 3

Watch Video Solution

1. If ∫ tan4xdx = Atan3x + Btanx + Cx + c then the descending order of

A,B,C is

A. A,B,C

B. B,C,A

C. C,A,B

D. C,B,A

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_RXshwtWemP4c
https://dl.doubtnut.com/l/_Br6ZbBjUwtLC
https://dl.doubtnut.com/l/_nMlqxCOMhqNT


2. If ∫
x3 + 1

x2 + 1
dx = Ax2 + Btan - 1x + Clog x2 + 1 + c then the assecdning

order of A,B,C is

A. A,B,C

B. B,C,A

C. C,A,B

D. C,B,A

Answer: 3

Watch Video Solution

( )

3. It ∫
3x - 2

(x - 1)(x + 2)(x - 2)
dx = Alog|x - 1|Blog|x + 2| + Clog|x - 3| + C

`then the ascending order of A,B,C is

A. A,B,C

B. B,A,C

https://dl.doubtnut.com/l/_nMlqxCOMhqNT
https://dl.doubtnut.com/l/_EPnho1QtKxo1


C. C,A,B

D. C,B,A

Answer: 2

Watch Video Solution

4. If ∫x2e2xdx = ex Ax2 + Bx + C + c then the ascending order of A,B,C

is

A. A,B,C

B. B,C,A

C. C,A,B

D. C,B,A

Answer: 2

Watch Video Solution

( )

https://dl.doubtnut.com/l/_EPnho1QtKxo1
https://dl.doubtnut.com/l/_rR5grPA9tbaw


EXERCISE 2 (SET-3)

1. Match the following. 

I. ∫sec2xcosec2dx a x + c 


II. ∫ tan2xcot2xdx = b tanx - x + c 


III. Intsin2xsec2xdx = c - cotx - x + c 


IV. Int cos^(2) x "cosec"^(2) x dx= " " d) tan x-cot x+c`

A. a,b,c,d

B. b,c,a,d

C. d,a,b,c

D. a,b,c,a

Answer: 3

View Text Solution

)
)

)

https://dl.doubtnut.com/l/_rR5grPA9tbaw
https://dl.doubtnut.com/l/_V7tXadSGVGly
https://dl.doubtnut.com/l/_4bvjD5ZI2oF9


2. Match the following. 

I. ∫
sinx

1 + cos2x dx = a tanx -
1
2x + c 


II ∫
1

1 - cos2x dx = b - cotx -
1
2x + c 


III. ∫
1 + cos2x
1 - cos2x

dx = c
1
2

secx + c 


IV. ∫
1 + sin2x
1 + cos2x

dx = - d
1
2

cotx + c

A. a,b,c,d

B. b,c,a,d

C. d,a,b,c

D. a,b,c,a

Answer: 4

View Text Solution

)
)
)

)

https://dl.doubtnut.com/l/_4bvjD5ZI2oF9


3. Match the following. 

I. ∫
1

√4 - x2
dx = a

1
2sinh - 1 x

2 + c 


II. ∫
1

√4 + x2
dx = b

cosh - 1(x)
2 + c 


III. ∫
1

x2 - 4
dx = c sin - 1 x

2
+ c 


A. a,b,c

B. b,c,a

C. c,a,b

D. a,c,b

Answer: 3

View Text Solution

) )
)

) )

https://dl.doubtnut.com/l/_UJORbUSyUTlj


EXERCISE 2 (SET-4)

4. Match the following. 

I. ∫
1

9 + x2dx = a
1
6

log
3 + x
3 - x

+ c 


II. ∫
1

x2 - 9
dx = b

1
6

log
3 - x
3 + x

+ c 


III. ∫
1

9 - x2 dx = c
1
3

tan - 1 x
3

+ c

A. a,b,c

B. b,c,a

C. c,a,b

D. a,c,b

Answer: 3

Watch Video Solution

) | |
) | |
)

https://dl.doubtnut.com/l/_u26ol1x3bfuI


1. A: ∫
1

3 + 2cosx
dx =

2

√5
tan - 1 1

√5
tan

x
2

+ c 


R: If a > b then ∫
dx

a + bcosx
=

2

√a2 - b2
tan - 1

√a - b

a + b
tan

x
2

+ c

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: 1

Watch Video Solution

( )
[ ]

2. A: ∫
1

5 + 4sinx
dx =

2
3

tan - 1 4 + 5tan(x /2)
3

+ c 


R : If a > 0, a > b, then ∫
dx

a + bsinx
=

2

√a2 - b2
tan - 1 b + atan(x /2)

√a2 - b2
+ c

( )
[ ]

https://dl.doubtnut.com/l/_psXlOWJGgHxi
https://dl.doubtnut.com/l/_jTkoJBlXPFha


A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: 1

Watch Video Solution

3. A: ∫ex
1 + xlogx

x
= exlogx + c 


R: ∫ex[f(x) + f′ (x)]dx = exf(x) + c

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

( )

https://dl.doubtnut.com/l/_jTkoJBlXPFha
https://dl.doubtnut.com/l/_yONhtoyfa12K


Answer: 1

Watch Video Solution

4. Observer the following statements : 

A : ∫
x2 - 1

x2 e
x2 + 1
x dx = e

x2 + 1
x + c 


R: ∫ f′ (x)ef ( x )dx = f(x) + c 


Then which of the following is true ?

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_yONhtoyfa12K
https://dl.doubtnut.com/l/_ZdHs58DjCBWo



